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Friday, April 7, 2017
--- On commencing at 9:32 a.m.

MS. LONG:  Please be seated.

Good morning, everyone.  Good morning, panel.  We continue to sit today in EB-2016-0152.  Before we begin with further cross-examination of this panel, Mr. Smith, anything you'd like to raise?

MR. SMITH:  I have no --


MS. LONG:  Okay.

MR. SMITH:  -- no preliminary matters.

MS. LONG:  Then we will start off with Mr. Shepherd.

MR. SHEPHERD:  Thank you, Madam Chair.  I have a compendium, which I think has been provided to everybody.

MS. LONG:  Yes, I see that.  Thank you.

MR. MILLAR:  It's K21.1.
EXHIBIT NO. K21.1:  SEC CROSS-EXAMINATION COMPENDIUM FOR OPG PANEL 5B.

MR. SMITH:  My apologies --


MS. LONG:  There is something --


MR. SMITH:  Yes, no, it completely slipped my mind.  And I just turn it over to Mr. Kogan.
ONTARIO POWER GENERATION - PANEL 5B, resumed
Lindsey Arseneau,
Chris Fralick,

Alex Kogan,

John Mauti; Previously Affirmed.

Cross-Examination by Mr. Shepherd:



MR. KOGAN:  Thank you.  This is in respect of Undertaking J10.7 that we filed a couple of days ago, attachment 1, which is the modification -- for the modification of Mr. Shepherd's original spreadsheet.

In reviewing this spreadsheet last night, I noticed one line item, the other revenues, and specifically the hydroelectric incentive mechanism revenue line, contained an adjustment for 2015 actuals, as you may recall, which took it from $85.7 million based on the average '14/'15 OEB-approved values in the going in rates to 57.7.

Upon further review I noticed two things.  One, we had inadvertently adjusted the number by 100 percent of the variance between the then forecast HIM values and the '15 actual HIM values.  The appropriate adjustment is 50 percent, because that is the amount that the Board applies through the sharing mechanism against the revenue requirement.

And second, I had noticed that we didn't actually update that value to 2016 actuals consistent with the updates to the OM&A and the in-service amounts that Mr. Shepherd had made in the spreadsheet and that we -- subject to a change to the OM&A number that we identified we accepted.

The resulting number goes up from 57.7 per year to about 65 million per year for the other revenues line.  And that changes an immaterial deficiency calculated on a simplified basis on that spreadsheet over the five years to a slightly immaterial sufficiency.

MR. SHEPHERD:  Madam Chair, is my friend going to file a corrected version?

MR. SMITH:  We will.

MR. SHEPHERD:  Thank you so much.

MS. LONG:  Thank you, Mr. Kogan.  So Mr. Shepherd, we have your compendium marked as K21.1.

MR. SHEPHERD:  Thank you.  I can't remember a K that was 21 in 15 years, at least.

Madam Chair, I have four areas I'm going to deal with, and I am hopeful that I will be finished by lunch, which will be slightly ahead of schedule, but these are very complicated areas, so it's a little bit unpredictable, and I'll try my best.

MS. LONG:  Thank you.



MR. SHEPHERD:  I want to start with the easy one, which is nuclear capital additions, and I understand that you're not the panel for nuclear capital, but I'm sure you know more about it than anybody else in the room.  And in any case, I'm more concerned about the rate base associated with nuclear.

And so what I have here is -- on page 2 of our compendium is J14.1, filed the other day, I think filed yesterday, maybe, that shows your -- a change in your 2016 actual spending.  I'm sorry, the figures are very small, but that's how it came to me, and I couldn't figure out how to make it bigger.

But -- and you talked about this yesterday, that 2016 you actually underspent on nuclear capital additions by 205 million, right?  That's in the second -- you talked about this yesterday?

MR. KOGAN:  That's right.  That's the difference that's shown between '16 actual and '16 budget at J14.1 at line 17.

MR. SHEPHERD:  So are you then going to change your opening rate base to adjust for that?

MR. KOGAN:  We have an undertaking, as I'm sure you noted from yesterday, where we would show what the world view would be if we did flow through the 2016 actuals.

MR. SHEPHERD:  You've refiled this table this week, and in the table you have no changes to your plan.  So that means that you -- unless the table is wrong, that means that your rate base will be 205 million lower for five years; isn't that right?

MR. KOGAN:  I think the purpose of that undertaking was specifically to update the table to insert 2016 actuals.  It was not to update '17 to '21 values for any new forecast that we may have or for that matter for the '17 to '19 business plan, which was subjected to the N1 update and did not include.

So this does not represent sort of a rolling updating.  It just was to reflect and to inform the parties of '16 actuals as requested.

MR. SHEPHERD:  So currently this Board does not have a correct capital additions forecast for the test period, right?

MR. KOGAN:  I wouldn't characterize it that way.  The Board has our forecast per the pre-filed evidence per our 2016 and 2018 business plan.  That was subject -- that the whole pre-filed evidence was subject to an update burst in our '17 to '19 business plan in the N1 impact statement, where we considered items that were appropriate to update, including materiality threshold, and we did not update for in-service additions.

As with any item, there's ongoing potential forecasting changes within the company.  I don't think we endeavour, subject to requirements, of course, for any material change in the Board's rules to update the application.

MR. SHEPHERD:  $205 million is not material enough?

MR. KOGAN:  I think you'd have to look at that in the context of timing as well.  I think we indicated that certainly at least 70 million of that in J14.1 is just a time shift from '16 to '17.  Then we're down $230 million.  And again --


MR. SHEPHERD:  So just let me stop you there.  You haven't changed your 2017 forecast or rate base at all, right?

MR. KOGAN:  No, as I explained, Mr. Shepherd, we haven't changed it for '16 actuals or for any updated forecast because the application is based on '16 to '18 business plan, as updated from material items, part of the N1 impact statement.

MR. SHEPHERD:  Tell me whether this is correct.  An increase in your rate base over the five years of your opening rate base, everything else being equal, of $205 million has an impact on revenue requirement of approximately $100 million; is that right?

MR. KOGAN:  So I will say no to that for the reasons that I was explaining earlier, in that you can't look at the '16 actuals in isolation.  You have to look at what that does to the whole five-year period, and that includes considering any timing shift.

So all I know from the undertaking, because I don't look at the specific projects, that's not my responsibility, that it says at least 70 million will be shifted into 2017, and I am -- I'm sure that more would be shifted, for example, in 2018.  And so the net effect, if you look at the five-year period, is going to be likely significantly lower than your number, which assumes that all else stays equal and you're just literally updating the '16 actuals.

MR. SHEPHERD:  That's the evidence before this Board right now, isn't it?  Are you suggesting the Board should make a decision based on something that is not in the evidence?

MR. KOGAN:  Well, first of all, I don't think all the evidence in front of the Board -- we still have, I believe, one or two undertakings from yesterday to do, and that falls to me, and in fact, as I was reflecting on it, I wanted to take a comprehensive look at what the forecasts are and was going to ensure that the Board actually did see as comprehensive a view as possible so they would have the evidence that you're alluding to, sir.

MR. SHEPHERD:  Well, maybe you could look at page 4 of our materials, which is yesterday's transcript, page 166.  Ms. Khoo actually asked for an undertaking to do exactly that, update this with a new forecast of what you're going to -- what your capital additions are going to be, and Mr. Fralick answered, Well, I don't know how we can do that.  It's only April.  Isn't that what you said?

MR. FRALICK:  What I said was that in any given year you're going to have puts and takes within your project portfolio, and here we are, just at the end of Q1, and we have undertaken to go back and take a look and if there is anything material that's changed -- but sitting here today, you wouldn't expect to have a world view of how the rest of the year is going to unfold, other than what you know now.

There's a lot of stuff that's in a planning phase that would still be moving into execution, that we would not expect to have a view of whether it's going to change or not.  That's a lot of road to unfold.

MR. SHEPHERD:  You are asking this Board to order rates that are set based on an opening rate base for five years that is $205 million too high.  And you know that, and they know that, and I'm asking you can you give us the rest of the information.  Because otherwise, it seems to me, your revenue requirement has to go down by $100 million.


MR. KOGAN:  I think the way you're posing the question is exactly what I said a minute ago.  Upon reflection, in line with what your line of questioning in fact is, we were going to go back and take a look at what a more comprehensive world view is, so we can consider properly all the timing effects and the continuities to the best of our ability, so that the best available information is in front of this Board.

MR. SHEPHERD:  I'm going to ask you either revise yesterday's undertaking, or perhaps more appropriately give a new undertaking today to update this table 1 from J14.1 to the forecast that you want the Board to rely on in setting rates, and the continuities that go with it, the rate base continuities that go with it.  Will you do that?

MR. SMITH:  Yes, we'll do it.

MR. MILLAR:  J21.1.
UNDRTAKING NO. J21.1:  TO UPDATE TABLE 1 FROM J14.1 TO THE FORECAST OPG REQUESTS THE BOARD TO RELY ON IN SETTING RATES, AND THE RATE BASE CONTINUITIES THAT GO WITH IT.

MR. SMITH:  Yes, I think a new undertaking number is appropriate.

MR. SHEPHERD:  I'm currently 10 minutes ahead of schedule.

Let's turn to the cost of capital.  I'm not going to ask you about business risk, but I do have some questions about the impact of cost of capital.

You will see here AMPCO Interrogatory No.16 at page 5 of our materials; do you have that?

MS. ARSENEAU:  Yes.

MR. SHEPHERD:  On page 6, you'll see you've done a calculation of what the impact is of increasing the equity thickness from 45 percent to 49 percent, right?

MS. ARSENEAU:  Yes.

MR. SHEPHERD:  That totals across the bottom -- I think you will accept, subject to check -- $80 million.

MS. ARSENEAU:  Yes, subject to check.

MR. SHEPHERD:  But that's calculated based on 9.19 percent, and of course the correct number now is 8.78 percent, right?

MS. ARSENEAU:  That's correct.

MR. SHEPHERD:  Will you accept, subject to check, that if you recalculate that, it's $73.5 million?

MS. ARSENEAU:  Yes, subject to check.

MR. SHEPHERD:  So that's the impact on rates over the next five years for nuclear only, right?  This is only nuclear?

MS. ARSENEAU:  That's correct.

MR. SHEPHERD:  Of increasing the equity thickness?

MS. ARSENEAU:  That is correct.

MR. SHEPHERD:  Now, will you agree with me that -- you've done what I call the gross, the full muscle version of the calculation.  But there's actually a simpler way of doing this, right?

You're proposing to change how much the ratepayers pay for 4 percent of these rate base numbers from, in 2017, 4.91 percent to the ROE grossed-up for taxes, right?  That's all that's happening here?

MS. ARSENEAU:  Yes, that's what this table calculates.

MR. SHEPHERD:  For example in 2017, if I take that 3344.4 and multiply by 4 percent, there is $133.8 million that you're saying instead of the debt rate, we want the grossed-up ROE rate, right?

MS. ARSENEAU:  Subject to check, yes, I believe that's how that would work.

MR. SHEPHERD:  And the grossed-up ROE rate is simply the ROE divided by the inverse of the tax rate.  So if the tax rate is 25 percent, you divide ROE by 75 percent to get the grossed-up amount that you put in rates, right?

MS. ARSENEAU:  Yes.

MR. SHEPHERD:  Okay.  And you'll accept, subject to check, that's 11.71 percent?

MS. ARSENEAU:  Subject to check.

MR. SHEPHERD:  So we can just go across here and say, for example in 2017, you're asking for additional 6.8 percent on 133.8 million.  Is that fair?

MR. KOGAN:  Just on the -- can you just walk me through 133 one more time?

MR. SHEPHERD:  Sure.  That 3334.4, 4 percent of that, which is the amount you want to shift from debt to equity, right, is 133.8, right?

MR. KOGAN:  Don't I have to take that times the capital structure, times about 50 percent?


MR. SHEPHERD:  Sorry?

MR. KOGAN:  Don't I have to do times 50 percent first, before I apply that?

MR. SHEPHERD:  Why 50 percent?

MR. KOGAN:  Because it's only the -- because that's roughly the capital structure amount.

MR. SHEPHERD:  No, this is shifting -- you're saying this 4 percent that normally we would get 4.91 percent on, that 4 percent instead we're going to get 11.71 percent, right?

MR. KOGAN:  Yes, we agree on the rates, yes.

MR. SHEPHERD:  So that 4 percent is 133.8 million, right?  That's the amount that you want to increase the return on, right?  It matches your numbers, by the way.

MR. KOGAN:  Okay.  I'll go with that then.  I should not have interrupted.

MR. SHEPHERD:  We can look at that 133.8 and we can say, okay,  6.8 percent of that -- actually, now at the new ROE, it works out to $9.1 million in the first Year.  Will you accept that, subject to check?

MS. ARSENEAU:  Yes, subject to check.

MR. SHEPHERD:  Okay.  I'm trying to simplify it, because we see all these tables of numbers and this is actually a less complicated thing than that.  You want the ratepayers to pay a higher amount for that portion of capital because in moving it over to equity, you improve your risk profile for investors, right?

MR. FRALICK:  The premise of our request for an increased equity thickness is based upon -- as you well know, the evidence that's been submitted through our Concentric report and as well through Brattle, which is an equity thickness that's reflective of OPG's risk profile.

That's what we're asking for.  We're asking for an appropriate equity thickness given the company's risk profile.

MR. SHEPHERD:  So it's not anything to do with how risky you appear to investors?

MR. FRALICK:  Well, I'm not a cost of capital expert, but I believe that that is one of the considerations that was taken into account as they made their determination of what an appropriate cost of capital would be for OPG.

MR. SHEPHERD:  That was the question I asked, and a yes would have been good.

MR. FRALICK:  I don't think that was the only consideration.

MR. SHEPHERD:  So there's others?

MR. FRALICK:  As I recall, Concentric had a three-pronged approach, three legs of the stool, and not to go through all of that again, but I understood it's not -- there was not just one factor which drove their determination of what causes an increase, or how to get to that ultimate number.

MR. SHEPHERD:  Here's what I'm trying to get at with this -- and it's actually not my main point my main point; my main point is a different one.

But for nuclear, you're asking the ratepayers to pay an additional $73.5 million, and my question is what are they getting for that?  Why is that a good idea for them to pay?

MR. FRALICK:  We are requesting -- I don't know if this is a quid pro quo here, with all due respect.  But what we're asking for is an equity thickness that's reflective of the company's risk profile, in line with how any other regulated utility would go about assessing what that risk profile looks like.

It's not if we get a dollar, then ratepayers get a dollar.  I don't see how that correlation works out.  This is an appropriate risk profile for the company that we would then utilize in order to go to the market and get attractive -- as attractive debt as possible.  That's certainly one of the things.

But this is reflects what the company's risk profile is.

MR. SHEPHERD:  Is it your evidence that you want the ratepayers to pay this extra $73.5 million and get nothing for it?

MR. FRALICK:  What they are going to get ultimately is a refurbished Darlington station that we will be able to  secure as attractive debt as possible in order to execute.  You're going to get -- I could go on to great lengths at what we have put on the table for what the ratepayer is going to get over the next five years as a result of our application.

MR. SHEPHERD:  And they're not going to get those things unless the equity thickness is increased?  You know that's not true, right?

MR. FRALICK:  I can repeat myself.  The equity thickness is related to the risk profile of the company.

MR. SHEPHERD:  So what you're saying -- and tell me whether this is right -- is the ratepayers may not be getting anything for this directly, but it's not fair to OPG in the sense of them -- OPG getting a reasonable rate of return if you don't have a greater equity thickness.  Is that what you're saying?

MR. FRALICK:  We are saying that what we're asking for is a reasonable equity thickness for the company's risk profile over the next five years.  As we've discussed, we have extensive program.  We are at a turning point in the nuclear side of our business's history.  We're undertaking very risky, large projects, and we are seeking a capital structure that is appropriate for the nature and -- of the business undertakings that we have in front of us.

MR. SHEPHERD:  Now, we've just talked about the 73.5-million-dollar cost of equity thickness in nuclear, but you also want the same amount -- you want -- not the same amount, the same change for hydroelectric, right?

MS. ARSENEAU:  We apply our capital structure on an entity-wide basis, so, yes.

MR. SHEPHERD:  And -- but because you're doing it through the price cap, you don't want to change the base rates, you want to instead have a hydroelectric capital structure variance account, right?

MS. ARSENEAU:  We have proposed for a variance account, yes.

MR. SHEPHERD:  And that would record the impact each year of a 49 percent versus a 45 percent equity thickness for hydroelectric?

MS. ARSENEAU:  Yes.

MR. SHEPHERD:  Is that based on actual rate base or on embedded rate base?

MS. ARSENEAU:  That was based on our Board-approved rate base from EB-2013.

MR. SHEPHERD:  So unchanged for five years.  Not escalated?

MS. ARSENEAU:  Correct.

MR. SHEPHERD:  So 7507.7 I think is the number, right?

MS. ARSENEAU:  Sounds about right.  I can pull up -- there is an undertaking, I think, that applied to this earlier.  Yeah.

MR. SHEPHERD:  So the -- and it would also be based on the --


MS. LONG:  Sorry, Mr. Shepherd, I --


MR. SHEPHERD:  -- sorry --


MS. LONG:  -- think Ms. Arseneau is looking up something.  Are you looking up the rate base number?

MS. ARSENEAU:  Yeah, I was just confirming, and, yes, it's provided in 9.8 Staff 217 per --


MS. LONG:  Okay.

MR. SHEPHERD:  7507.7, right?

MS. ARSENEAU:  Correct.

MR. SHEPHERD:  Okay.  And the ROE that is embedded is 9.33 percent, right?

MS. ARSENEAU:  It is, yes, the average of the OEB-approved amounts from 2014/'15.

MR. SHEPHERD:  And so the amount you want to recover is the difference between that ROE, right?  You're not proposing to use the new ROE in this calculation of the impact of equity thickness?

MS. ARSENEAU:  No, we're proposing to use what's embedded in the payment amounts.

MR. SHEPHERD:  So the difference between 9.33 and what, the cost of debt in the payment amounts?

MS. ARSENEAU:  Yes.

MR. SHEPHERD:  What's the cost of debt in the payment amounts?

MS. ARSENEAU:  So that's also provided in 9.8 Staff 217 on line 5 of Table 1, and that average amount is 4.83 percent.

MR. SHEPHERD:  4.83 percent.  So that's interesting, because that tells me that -- because 9.33 grossed up is actually 12.44 percent, right?  So you're taking this 4 percent of rate base, and you want an additional -- and you want 12.44 percent on that instead of 4.83, right?

MS. ARSENEAU:  Well, we would like to use the amounts that are embedded in the payment amount and approved in EB-2013.

MR. SHEPHERD:  And that's 9.33 and 4.83, right?

MS. ARSENEAU:  Correct.

MR. SHEPHERD:  And so if you gross up 9.33 will you accept subject to check that that's 12.44?

MS. ARSENEAU:  I will, subject to check.

MR. SHEPHERD:  All right.  And so you want an extra 7.61 percent on 7507, right?

MS. ARSENEAU:  Subject to check that those are the percentages that come out --


MR. SHEPHERD:  Sorry --


MS. ARSENEAU:  -- of the calculation, yes.

MR. SHEPHERD:  -- my apologies.  7507.7 times 4 percent, so $300 million at 7.61 percent.  That's what you want, right?

MS. ARSENEAU:  So, sorry, what's the 300 million --


MR. SHEPHERD:  That's 4 percent of 7507.7.

MS. ARSENEAU:  So I can take subject to check that 4 percent of 7507.7 is the 300 million that you've referenced and that, yes, we're proposing that that's the change in the rate base that will have the ROE component applied to it.

MR. SHEPHERD:  And so the total of that is $22.8 million a year, right?  That's -- you're proposing to put in this account, this hydroelectric capital structure variance account, $22.8 million a year for the next five years.

MS. ARSENEAU:  Yes, that's also provided in 9.8 Staff 217, line 9.

MR. SHEPHERD:  So the actual cost then of this equity thickness I get is 187.8 million, 73.5 million for --


MS. ARSENEAU:  Again, subject to check, but, yes, that sounds about right.

MR. SHEPHERD:  Okay.  And with respect to hydroelectric, that 114.3 million extra that you want, are the ratepayers getting anything for that?

MR. FRALICK:  I would just repeat what I've said earlier.

MR. SHEPHERD:  Well, they're not getting DRP for that, right?

MR. FRALICK:  Well, they're going to get a reliable hydroelectric fleet that we've maintained for over a hundred years and we're going to continue to do so, but when we conducted our analysis of the appropriate capital structure it was not done on a strictly nuclear basis, as is alluded to.  That would have resulted in a much higher equity thickness.  So the equity thickness is representative of OPG's regulated operations in totality, which includes hydroelectric and nuclear.

MR. SHEPHERD:  Well, we disagree on that, but I guess my point is that for this whole $187.8 million extra that you're asking for, you have not yet said what -- that the ratepayers are going to get anything extra for that.  This is simply about fair return to OPG, right?

MR. FRALICK:  Clearly there is an element of fair return.  I think we expect to be able to secure attractive debt through the course, and we will be raising significant funds.  And that will help us to secure that debt at reasonable terms.

MR. SHEPHERD:  And so you have done an analysis that shows that with this additional equity thickness you're going to reduce your cost of debt over the next five years, have you?

MS. ARSENEAU:  No, we've not done such an analysis.

MR. SHEPHERD:  Well, then how can you say under oath that you're going to get debt at more attractive rates?  You're not, are you?

MS. ARSENEAU:  Well, we haven't elicited an external view of what debt rates could be given different capital structures.  I can point you to -- let me pull it up.

So in EB-2013, where we had proposed 47 percent equity thickness and had approved 45 percent equity thickness, our credit spread at the end of 2012 based on the 47 percent equity thickness was 131 basis points.

Now with the 45 percent equity thickness our credit spread at the end of 2015 as stated in Exhibit C1, tab 1, schedule 2 is 161 basis points, so I can see from that that our credit spread has increased with the --


MR. SHEPHERD:  And so you're saying --


MS. ARSENEAU:  -- lower equity thickness.

MR. SHEPHERD:  So you're saying you're paying more for debt now than you used to because the Board reduced you from 47 to 45?

MS. ARSENEAU:  I'm saying that I'm not an expert in that area but directionally it looks like that could have had an impact.

MR. SHEPHERD:  Isn't this the finance panel?  This is the only cost-of-capital witnesses that OPG is offering, right?

MR. SMITH:  Well, beyond Concentric, these are the only witnesses.

MR. SHEPHERD:  So then this is where I ask questions about your corporate finance, right?

MR. MAUTI:  Yes, we are.

MR. SHEPHERD:  Okay.  So then my question is how much are you saving on cost of debt because of going from 45 to 49?  Is it $187.8 million?  Because we all know that it isn't that, is it?

MR. MAUTI:  I think Mr. Fralick has tried several times to say that the return and the equity allowed for OPG should reflect the underlying business risks of us as an entity.  One of the things credit rating agencies would look at when they look at OPG is to ensure that we are properly compensated for the underlying risk of running the combined hydro and nuclear business that we have.

I think what Ms. Arseneau tried to point out was through maybe a variety of factors, one of which is our equity thickness, between what was asked for in the last proceeding and what was allowed, is that the credit spread, which is the difference between recognizing the risk profile of the company is actually higher than what we proposed with the higher equity thickness.

Can I guarantee that's a one to one relationship and that's the only thing that would have changed?   I can't, but that is one of the factors that is used.

MR. SHEPHERD:  What we know is that your rating hasn't changed, right?

MR. MAUTI:  Since when?  I'm sorry, I'm just trying to --


MR. SHEPHERD:  Well, you see, all these additional risks, they haven't changed your credit rating, have they?

The only change in your credit rating, and the reason you went from 131 to 161, is because the province was downgraded.  Isn't that right?

MR. MAUTI:  No.  When we go out to place debt, it is placed -- and the spread that we pay to the province, as has been on the record, we get our financing currently from the province.  But we get assessed a spread based on our individual creditworthiness, which is verified and vetted through discussions with various banks and whatnot to suggest this would be the spread profile that the province would apply on the debt that they lend to us.

So it does reflect our credit risk and credit profile.

MR. SHEPHERD:  Sorry.  The credit rating agencies haven't changed your stand-alone credit rating, have they?

MR. MAUTI:  I didn't say that's the only reason that credit spread gets assessed.

MR. SHEPHERD:  What it sounds like you're saying -- I heard Ms. Arseneau say, I think, that the market has spoken and you've gone from 130 bases points to 161 bases points in spread because of reduced equity thickness.

But now it sound like you saying no, that's really the province decided to charge more.  Isn't that right?

MR. MAUTI:  The province doesn't just decide it.  The province looks at and rely on our creditworthiness in discussion with chartered banks that would be providing lending to basically say this is the spread that should be applied on to the basic calculation of the rate that OPG debt gets made from the OAFC.

MR. SHEPHERD:  It's a decision by the province?

MR. MAUTI:  It's an evaluation, not necessarily just a haphazard decision.

MR. SHEPHERD:  Who decides on the 161?

MR. MAUTI:  It's a result of benchmarking again with OPG -- in effect, it tries to replicate what OPG would have gotten had they gone to the outside marketplace and been able to raise debt.

Again, I'm not from the treasury group, but I understand it's a process that is reviewed with the chartered banks that looks at our creditworthiness, and they take many factors into account, including the equity thickness we have through the OEB.

I'm not suggesting, and I don't think Ms. Arseneau suggests that that is the only factor that is used.  But it is one of the factors, yes.

MR. SHEPHERD:  All right.  I want to turn to my next area, which is the capacity refurbishment variance account.  I know you had discussions about this yesterday, and I'm not going to tread on that ground.

But I do have some questions because I -- I mean, I like the direction you're going in, but I have a concern about whether you've gone to the right final result.  So starting on page 9 of our materials, we've included your original proposal with respect to the capacity refurbishment variance account.  This is from your pre-filed evidence; do you recognize that?

MR. FRALICK:  Yes.

MR. SHEPHERD:  And in that proposal, basically the nuclear and the hydroelectric were much the same.  You didn't have anything in that proposal that dealt with the fact that you have some capital funded by IRM, right?

MR. FRALICK:  Well, we were aware of the fact that within an IRM, it would fund all of our costs, which include OM&A and capital.

MR. SHEPHERD:  Can you point out in that original proposal where you said and by the way, if something is funded in -- if we have enough money in the IRM, then we can't claim it in the CRVA?  Can you show me where that is there?

MR. FRALICK:  I don't think there is a line that says that.  And quite frankly, it never occurred to us that the notion of double-counting would be one that we would even have thought of.

MR. SHEPHERD:  Because you weren't planning to correct for double-counting, were you?

MR. FRALICK:  Well, we had not contemplated double-counting because double-counting is -- would be to us preposterous, that we would come in here and expect that we would have a mechanism to double recover our cost.  That thought never crossed our mind.

MR. SHEPHERD:  I'm looking at your original proposal, and your original proposal seems to me to say everything we spend on eligible projects in excess of the minuscule amount that's in 2014-2015 is recoverable.  Isn't that what it says right there?

MR. FRALICK:  What we've said is we have a CRVA, and we've laid out the mechanics for how that account would work, full stop.

MR. SHEPHERD:  Non-responsive to my question.  Is the result of what you've proposed that there is no adjustment for the fact that IRM funds capital?  Is that correct?

And if it's not correct, show me where you said anything different in your original proposal.

MR. FRALICK:  Can you repeat that?

MR. SHEPHERD:  That the result of your original proposal is that every penny of CRVA eligible projects in excess of the small amount in 2014 and 2015 would be recoverable in the CRVA, regardless of what else you spent.  Isn't that what this says?

MR. FRALICK:  What I can say is that we did not turn our minds to double-counting at the time of the original filing.

MR. SHEPHERD:  Okay.  So now you've made a new proposal this week, I guess as a result of the hearing, and you were taken to it yesterday.  And on page 12 of our material, we have that quote where you basically say look, we weren't intending to double-count and we don't think that Regulation 53/05 allows us to double-count.  Is that a fair paraphrase?

MR. FRALICK:  What we're saying is that we should not be able to double-count, absolutely not.  And O. Reg. 53/05, in that it entitles us to recover our prudently incurred costs, we need to reconcile how that account interacts with the IRM.  And we've endeavoured to outline that in the supplementary evidence.

MR. SHEPHERD:  You have consistently said throughout this hearing, and you say so again in here, that when you have price cap rate setting, you're decoupling payments and costs and as a result, nothing is actually funded in rates, right?  Because there is nothing underneath it; there's just the price cap, isn't that right?

MR. FRALICK:  The price cap under an IRM, as we understand it, is the entire envelope that we are expected to live within.  And through the interaction of the CRVA, though, we recognize that there is a need to clarify, and we've attempted to do so, how our capital is going to operate in order to ensure that there has not been double-counting.

MR. SHEPHERD:  If you look at line 9 on this page, you say -- I assume this is you,
"It is not strictly accurate to state that approved payment amounts fund the specific level of capital expenditures during the IRM period."

MR. FRALICK:  Yes.

MR. SHEPHERD:  Okay.  But you're saying however, we understand that some capital additions are implicitly funded by the fact that we have rates based on a previous plan, right?

MR. FRALICK:  We understand that under an IRM, that that is for everything.

MR. SHEPHERD:  And so all the exercises here is to figure out how much does IRM implicitly fund in capital additions, right?

MR. FRALICK:  Yes.

MR. SHEPHERD:  And what you've said is we know what that is, it's the depreciation amount increased because it's all elements of your revenues are increased by 1.5 percent a year.  So it's the depreciation amount indexed for five years, right?

MR. FRALICK:  We've said that and in coming to that conclusion, we also had to consult with our expert, Ms. Julia Frayer, to assist in that interpretation, yes.

MR. SHEPHERD:  Sorry, I'm going to have to stop you.  Do we have evidence from Ms. Frayer on this?

MR. FRALICK:  No.

MR. SHEPHERD:  Then I don't think this can be led.  If you have expert evidence on this point, please lead it. Otherwise, it has to be excluded.  You can't hearsay an expert.

MR. FRALICK:  We're telling you what we did.  This is happening real time, and we consulted with our expert in this matter and --


MR. SHEPHERD:  I'm sorry, Madam Chair, I've objected to this evidence.

MS. LONG:  I don't think he is going to say anything about what Ms. Frayer said to him.  He said he has consulted -- I mean, he has consulted with other people and we're not going to place much weight on it, because he is not going to say what the evidence is -- unless you're planning on filing it, which I don't think you are.

MR. SMITH:  No.

MS. LONG:  So you understand, Mr. Fralick, that you won't discuss what she advised you, and that won't be evidence in this hearing, but for the fact that you spoke to her, you've said, and I don't think that we're going to go beyond that.

MR. SHEPHERD:  All right.  So your conclusion is depreciation expenses, the money that you get for capital additions in your revenue requirement, right?

MR. FRALICK:  It's an objective measurement of what capital is funded within the IRM.

MR. SHEPHERD:  So what you've said here is -- and I'm looking at line 24 -- the total amount of such capital spending implicitly funded through the base payment amount, so this is what we're trying to get at, right?  The base payment amounts and the formula, they fund a certain amount of capital, right?

MR. FRALICK:  Yes.

MR. SHEPHERD:  Okay.  So let's step back, because I think conceptually I agree 100 percent with what you're doing, I just don't think depreciation is the right number.  I think it's just incorrect.  So let's start with, in rates -- and I know this is a little bit oversimplified, but I think you'll agree it's correct.

Revenue requirement that bases rates has two main components.  It has your annual operating costs, money you have to pay every year to run things, and it has the costs associated with your capital, the infrastructure, and those costs in turn have two components:  An allocation of some of the capital each year to costs -- this is depreciation  -- and the financing cost of the amount that's unamortized.  Am I right there?  This is sort of like corporate finance 101, but I'm just...

MR. KOGAN:  Could you just say that again, Mr. Shepherd?  I apologize.  Sorry.

MR. SHEPHERD:  Okay.  So you have two components.  Component number one is your operating costs for the year, right, money you pay out in the year, or sometimes it's accruals, but it's costs during the year.

MR. KOGAN:  Yes, we have that.

MR. SHEPHERD:  Then you have the costs of the capital component of your business, which are -- in turn have two components.  One is an allocation each year, depreciation, because you spread it over time, you recover it each year as you use up the capital.

MR. KOGAN:  Yes, we do.

MR. SHEPHERD:  And the other part is the cost to finance the unamortized component, which is ROE and PILs and interest and that -- those costs.

MR. KOGAN:  Yes, there is a cost of financing component, yes.

MR. SHEPHERD:  And so the costs of capital, the costs associated with capital, are those -- that package, depreciation, interest, ROE, and PILs; is that right?

MR. KOGAN:  Yes, return of and return on capital.

MR. SHEPHERD:  Return of and return on.  I remember.

So those amounts -- those amounts fund rate base, right?  That's how you fund your rate base.  Through that package of costs.

MR. FRALICK:  No, I wouldn't agree with that.

MR. SHEPHERD:  Okay.

MR. FRALICK:  If you take your line by line, we've said that depreciation -- we agree on that front that that is certainly representative of capital.  But when you look to add in cost of debt and ROE, we do not believe that that is available to fund capital --


MR. SHEPHERD:  I'm not there yet, sorry, I'm just talking about what your costs are to fund rate base.  I'm going to get to what funds capital additions in a second.  Right now I'm just asking what funds rate base.  And it's that package, right?

MR. KOGAN:  When you say "funds rate base", is there another way you can state what you mean by that?

MR. SHEPHERD:  Sure.  You have to -- in a capital-intensive business you have annual operating costs and then you have this capital, this big hunk of capital, in your case a very big hunk of capital, that you have to fund each year, and so you fund it by return of capital and return on capital, right?

MR. KOGAN:  Well, we -- practically speaking, we fund it from the company's cash flows that come in based on our rates and revenues.  I mean, I think you are trying to look inside the rates and specifically attribute what line item -- cash in lines up with our cash out flows.  We don't look at it that way, right?  The cash comes into revenues and then you have got a pool and use it for operating and capital purposes, and where there's a shortfall you go and you engage in effectively debt financing.

This is the same discussion that we have with pension OPEB I think in one of the interrogatories in the earlier proceedings that you can't draw that link directly.  That's why I was pausing.

MR. SHEPHERD:  It's a relatively simple concept.  It's literally the first week of corporate finance course you learn this.  I'm not trying to say anything unusual.  It's a straightforward thing, that you have -- when you do cost of service you have to fund all this capital, and you fund all that capital, you get money from the ratepayers to pay for that capital, in those four categories; is that not right?

MR. KOGAN:  It is right that we recover from ratepayers the amounts in those categories; that is correct.

MR. SHEPHERD:  Okay.  So if a million dollars of rate base needs in those four categories 100,000 dollars of rates, if all the calculations work out a million dollars of rate base, $100,000 we have to get from ratepayers each year, if that's the case, is it not true that if you add 10 percent to the rate base you need 10 percent more from ratepayers?  All other things being equal, that's true, right?

MR. KOGAN:  In a cost-of-service environment and provided that you've properly taken into account changes in equity rates and cost of debt rates, you're assuming sort of those are -- you know, all else constant, yes, that would be the math, sure, yeah.

MR. SHEPHERD:  Perfect.  So then the other thing is the opposite is true, though, right?  If you get $100,000 from ratepayers and that covers a million dollars of rate base and if you get $110,000 from ratepayers, that covers 1.1 million dollars of rate base, doesn't it?  The math works both ways.  It's --


MR. KOGAN:  Yeah, again, when you say "covers", it --the recovery would result from -- if you're saying in a cost-of-service environment, okay, I've got, you know, X, and then I have X plus some number, then, sure, the -- proportionally the amount that you would recover through cost-of-service rates would go up, again assuming same equity rates and cost of debt rates across the period.  To the extent that those change then that relationship will break down.

MR. SHEPHERD:  All right.  And I agree 100 percent.

Of course, in a price cap none of those things change, right?  All those things are fixed?

MR. KOGAN:  Well, as I understand it, a price cap is, as Mr. Fralick has noted, is effectively applying a formula to a rate, so I'm not sure when you say none of those things change what that means.

MR. SHEPHERD:  What's your ROE that you're assuming for the next five years?  It doesn't change from 2014 to 2015, does it?

MR. KOGAN:  So the mathematical computation doesn't, but my understanding, and I'll defer to my regulatory colleagues, is that part of the IRM factor is meant to consider the fact that there are in fact changes in the ROE rate and cost of debt rate and that while you're not -- precisely because you're not changing the rates that are embedded in the going-in rates that you need to implicitly take that into account in the I minus X factor.

MR. SHEPHERD:  Here's the reason why I'm asking this.  I was trying to figure out -- I was going to do this big complicated spreadsheet showing how you were underestimating the capital additions that were funded, and I realized -- I think this is true -- that if you increase the funding by an escalator you increase the rate base that is funded, and you've just agreed that's true?

MR. KOGAN:  I know where you're going, Mr. Shepherd, and I understand the math, and I'm not sure if that spreadsheet -- your rate base spreadsheet is in the compendium.  I've looked at it.  And I'm not disagreeing with the math, but I think what we are disagreeing with is that that holds in the -- that holds in the I minus X world, because part of that needs to go towards accounting for changes in ROE rates and interest rates.

So if the ROE rates over the next five years go up because, I don't know, the Trump effect or whatever else happens in the world, we do not have an account to capture that difference.  In fact, we removed that account from our original proposal per the feedback from the stakeholdering sessions, and -- because precisely that the protection against that is within the I minus X factor.

So you can't take all the dollars from the I minus X factor and say, no, no, all that is towards capital and in-service additions.  It's not.  Some of it is implicit in there to compensate you for changes in ROE rates and cost of debt rates.  That's our view.

MR. SHEPHERD:  So compensate you, as in give you extra money because you've got 9.33 percent embedded and it's actually only 8.78; is that right?

MR. KOGAN:  That's what it is today, sir.  A year from now, it might be 9.5, it might be 9.8.  I don't think it's appropriate to look at it sort of at a point in time.

We're setting rates for five years, and frankly this is the first hydroelectric IRM proceeding, so it's precedent setting in many ways.  So I think we need to really think longer term how we want to approach these things, as opposed to focusing on exact numbers today.

MR. SHEPHERD:  I agree with you a hundred percent, but we still have to focus on the numbers today to get them right.  And that's all I'm trying to do.

So let's move to the spreadsheet you refer to.  You've said that there's $749 million of capital spending embedded in rates, right?  It's on page 14.

MR. FRALICK:  Yes.

MR. SHEPHERD:  And that's the escalated depreciation?

MR. FRALICK:  That's the accumulation of the five years' worth of depreciation escalated, yes.

MR. SHEPHERD:  The way I look at it, what happens is if you have no capital additions, your rate base goes down over time, right?

MR. FRALICK:  Yes.

MR. SHEPHERD:  By the amount of the depreciation?

MR. FRALICK:  That's the math, yes.

MR. SHEPHERD:  Okay.  But it's only the amount of the -- in price cap, it's the only amount of the original depreciation that it goes down by?  It's a favourable assumption to you?

MR. FRALICK:  The depreciation, we --


MR. KOGAN:  Of course that's the math of it.  But again, we're consulting because we're in an I minus X world where there isn't such a thing as a rate base happening over the next five years.  So in theory, of course, yes, you're right.

MR. SHEPHERD:  It's interesting you say that, because I'll bring you back to page 12 where you clearly say what we have to do here is figure out how much capital spending is implicitly funded in the I minus X.

So yes, I agree with you that theoretically, the I minus X price cap doesn't have any costs underneath it; it's decoupled.  But if you want to find the implicit funding, you have to assume there are costs underneath it; isn't that right?

MR. KOGAN:  Yes.

MR. SHEPHERD:  Okay.  All we're doing here is trying to figure out what implicitly is funded underneath that envelope level, right?

MR. KOGAN:  I think we agree on that.

MR. SHEPHERD:  Okay.  So from our point of view, we're saying zero capital additions, your rate base goes down.  That means that the funding of a rate base at this level is too much every year, right, by the same percentage that the rate base goes down?  We've agreed on that earlier.

MR. FRALICK:  The math we agree on.  I think, as was shown in our response to SEC 95, we have a capital program that's well in excess of these numbers.  So this is a hypothetical, but it doesn't link with what we've got here

MR. SHEPHERD:  It's not --


MR. KOGAN:  Furthermore to the earlier point, Mr. Shepherd, again that only holds true if you are assuming that the cost of debt and ROE rates are holding constant. And my earlier point is that some of that funding is toward the uncertainty of potential changes in those rates.  So that makes it harder to agree.

MR. SHEPHERD:  I take that point, and you'll make that in argument, I'm sure.  But I would like to make sure the Board understands the math we're getting.

MR. KOGAN:  Yes, we can work with the math.

MR. SHEPHERD:  On page 15, what we've done is we've looked at two rate base scenarios.  One rate base scenario has no capital additions and you'll agree, won't you, that that fairly represents what happens to rate base if you have no capital additions?

MR. FRALICK:  Our rate base would decrease each year by our depreciation expense.

MS. SPOEL:  Mr. Shepherd, I'm lost on this page 15.  What exactly is it that you are trying to have him -- what happens to rate base.  You have a table here and they may be able to understand it just by glancing at it.  Only having seen it last night, I haven't.

Can you just tell us what this is intended -- how this runs, how the numbers run through this table.

MR. SHEPHERD:  There are two sections that matter.  One is rate base without additions, and that's the starting rate base declining by depreciation.

MS. SPOEL:  Yes.

MR. SHEPHERD:  And the second is the rate base funded by the original capital envelope plus the escalator.

MS. SPOEL:  Thank you.

MR. SHEPHERD:  And the delta between the two, our position is -- and I think Mr. Kogan is aware of this -- is the delta between the two is how much of capital additions is funded by IRM.

MS. SPOEL:  I see it now, thank you.

MR. SHEPHERD:  Okay.  We have those two sections and, Mr. Kogan, it's true, isn't it that if -- let me back up.

The amounts in base rates, in the revenue requirement underlying base rates to fund capital are $736.5 million; is that right?  Will you accept those, subject to check?

MR. KOGAN:  Again, the math on the spreadsheet I do agree with.

MR. SHEPHERD:  Okay.  So if that amount escalates by 1.5 percent a year, that 736.5 escalates by 1.5 million a year, then will you accept that -- subject to your caveat about changing interest rates and all that stuff, will you accept that the amount of rate base funded by that capital envelope also increases by 1.5 percent a year, as you agreed in principle earlier?

MR. FRALICK:  Fundamentally, we would not agree that cost of debt ROE and PILs would be a source of capital for us to use through the term.  We believe that depreciation is a fair representation -- escalated depreciation is what represents our capital envelope.

ROE and cost of debt, as Mr. Kogan has outlined, are  captured through the I factor, and the Board has in fact recognized that in their second generation IRM report.  They've explicitly said that that is an intent of that I factor, and PILs is for tax.

So we don't see how those costs should be captured in a determination of an appropriate implicit envelope.

MR. SHEPHERD:  If in 2021, the total of those costs --so no interest rates change, no ROE changes, no tax changes, the total of those costs is 793.4.

You'll agree, won't you, that that supports a rate base of 8-billion-087.9; isn't that right?

MR. FRALICK:  I think we're not disagreeing with your calculations.  I'm disagreeing fundamentally with the premise that this is what implies what is in rate base that is available to fund capital within the IRM price cap, what's available to fund capital.

MR. SHEPHERD:  You are aware the Board's ICM has, in addition to a dead band, it also has an amount reflecting the escalation in IRM, right?

MR. FRALICK:  I'm not an expert in the ICM, but we have looked into that through the course of establishing our H1-1-2 response.  And my understanding is that the ICM fundamentally was determined to establish a materiality threshold by which an LDC would then determine when it would come back in for additional funding.

I don't believe that it was intended to answer the question strictly of how much capital is funded within IRM, number one.  Number two, I believe the environment that the LDCs are under is somewhat different in that they're in a rate base growth -- a growing rate base environment which is different to ours.  They've got an ability to increase customer base, their revenues, which is different to ours.  And I think probably most fundamentally, the age of their assets is quite a bit different than OPG's.

So the rate base, to depreciation ratio for LDCs, for example, is about 25 to 1, whereas in our case it's more like 55.

So I think some of the arguments that the LDCs had made through the ICM consultation was that because of the long life of their assets that the cost to replace those assets that are covered by depreciation is much greater than the cost that they expended originally.  In our case that's significantly exacerbated.

So we don't -- we did not -- we don't believe that the ICM formula was strictly meant to answer that strict question.  We believe that an objective reflection of what capital is covered in our IRM is the depreciation amount.  In the context of the CRVA, which is a nuance relevant to OPG, there is no materiality threshold for when we get those costs back provided that they're prudently incurred.

So the next dollar past what is funded within our IRM would be recoverable as per the regulation.  So there are a number of significant differences to our situation and our understanding of that ICM calculation.

MR. SHEPHERD:  Would you agree that your current forecast of hydroelectric rate base in 2021 is less than $8 billion?

MR. FRALICK:  What we forecasted to grow to with our current SEC --


MR. SHEPHERD:  Including CRVA amounts, everything.

MR. FRALICK:  Okay.

MR. SHEPHERD:  Less than $8 billion, right?

MR. FRALICK:  Yes.

MR. SHEPHERD:  And it's true, isn't it, that your current expectation is that you're planning to spend on capital additions over the next five years something, and then maybe it's going to change with your new numbers, but something like $950 million, $975 million?  Something like that?

MR. FRALICK:  It's in that ballpark, yes.

MR. SHEPHERD:  It's certainly not 1.3 billion, which is what this calculation would say, right?

MR. FRALICK:  It's certainly less than 1.3 billion, yes.

MR. SHEPHERD:  All right.  I am turning to nuclear liabilities, which is the main thing I wanted to talk about today.  All of that was just prep.

And -- oh, Madam Chair, what time would you like to break?

MS. LONG:  Around eleven o'clock.

MR. SHEPHERD:  Eleven o'clock?  Okay.  So let's start with page 16 of our materials.  And some of these things you've talked about yesterday.  And I haven't read the transcript.  I listened to most of it.  But I have some slightly different questions about those things.

So this Chart 1 on page 16 of our materials -- this is from C2, tab 1, schedule 2, page 3 -- this is your current -- most current request for nuclear amount -- nuclear liability amounts to be included in revenue requirement, right?

MR. MAUTI:  That's correct.  These are the amounts that are in the revenue requirement, and I believe the updated C2-1-2 evidence also talked about amounts that we'd be proposing for the nuclear liability deferral account and the Bruce lease variance account as well.

MR. SHEPHERD:  Okay.  So let me go to then that next page, which is chart 1A from that same exhibit, and these are the amounts that you're talking about, right, $120 million, that are adjustments to that first page, but you're not proposing to adjust the first page, you're proposing to put these in the deferral accounts, right?

MR. MAUTI:  Correct, these would be the amounts as a result of the approval of the contribution schedule from the 2017 ONFA reference plan.

MR. SHEPHERD:  And on page 18 we've cited -- you've cited here and we've included your statement in footnote 4 about why you think those $120 million should be put in the deferral accounts rather than adjust the actual revenue requirement.  And I don't understand that.

So can you help explain why these shouldn't just be part of the revenue requirement?

MR. MAUTI:  First thing, the footnote 4 that you have on page 18 of your compendium deals in part with the impact of the new contribution schedule.  It also deals with other factors that happen with nuclear liabilities where it's not known until the end of 2016, the impact.  There is back on your page 17 --


MR. SHEPHERD:  Yes.

MR. MAUTI:  -- lines 7 through 15 talks about things in addition to the contribution schedule changes.  There are also impacts on the calculation that you get into that was not known until the end of '16 actually happens.  We've talked about things like the discount rates that would apply with a change for ONFA liabilities.  That would impact those annual variable costs related to incremental fuel and waste generated.  And as well we needed the final 2016 ARO adjustment to do some of those calculations.

So to try to simplify your chart and page 16 for revenue requirement and then the chart 1A, the impact of the contribution schedule, needs to -- is also consideration, as well as those two values, those two credits, that are in that paragraph below, the 95 million and the 80 million.

MR. SHEPHERD:  Okay.  So here's what I don't understand.  Page 16 is what you want the ratepayers to pay, right?  $1.808 billion, right?

MR. MAUTI:  Correct, as a result of the impact schedule that was filed.

MR. SHEPHERD:  Okay.  Then page 17 says, oh, by the way, we don't need 120 million of that, but we still want you to give us the whole 1808.  Why?

MR. MAUTI:  At this point, again, we're filing this evidence during the hearing and the proceeding.  We had already on the impact statement suggested the main change.  There are variance accounts that deal with these changes that happen.

In the end, if the Board so ordered to take these into account in the revenue requirement and not flow them through the variance accounts, it was really done to try to make this a simpler process for discussion.

Dealing with this as part of a rate order, if it so chooses to flow through the revenue requirement, we would not have a problem, we just didn't want to go through the process of the multiple updating that would have to happen, especially since we're doing this during the hearing.

MR. SHEPHERD:  So the Board would not be wrong if it simply netted out the figures in Chart 1A with the figures in chart 1 to get a billion-688.3, would it?

MR. MAUTI:  Subject to the -- to doing the math correctly and as well taking the amounts that 80 and 95 million, so you can really take all of that into account and flow that through.

There was a number related to the Bruce net lease variance account that I quoted yesterday of the 90 million dollars.  That would have reflected all the changes, the chart 1, the chart 1A, as well as the credit for the Bruce lease variance account in that paragraph I reference below.

MR. SHEPHERD:  Well, so -- actually, I was going to get to this at the end, but let's deal with this now.

So this -- even this chart 1A is not up-to-date.

MR. MAUTI:  Chart 1A is a reflection of the contribution schedule change.  That is complete.  That is the impact of the contribution schedule that was approved by the province on February 28th, I believe it was.

MR. SHEPHERD:  But we have -- if you take a look at pages 28 and 29 of our materials -- this is from yesterday's transcript -- you had this whole discussion with Mr. Walker and the Chair about the 401 and what it is.  And in N11 it's actually about 130, right?  It's gone down to about 130?  And you say, well, it's really now a 90; is that right?  Roughly?

MR. MAUTI:  Correct.  The 90 is flowing through the subsequent changes from the contribution schedule, as well as the year-end true-up and flow-through adjustments.

MR. SHEPHERD:  So does that mean that none of these numbers are actually right, in the sense that you now know -- you have better evidence now?

MR. MAUTI:  I think I tried to impart yesterday that there are multiple things that are happening in real time during the hearing, which is what required the additional evidence was placed and then having to update it for the approval of the contribution schedule, having to then suggest other changes in the variance account because of the year end and the audited financial statements coming out, so --


MR. SHEPHERD:  I'm not in any way being accusatory.  I can imagine what you're going through.  I'm trying to understand whether the Board can rely on these numbers, the 1808 and the 119.7, or whether in fact you now have better information that makes those no longer correct.

MR. MAUTI:  I think what we've tried to do with the update of the evidence is provide the revenue requirement based on the N1 update and then provide the impacts through the variance accounts of the other subsequent changes.  I think the information is there.  It may not be in a way that -- if this would have happened five months earlier, we would have had a different C2-1-1 schedule for revenue requirement.  But I think the component pieces are all there, perhaps not in the way any of us would have wanted, but it's the reality of the sequence of events that are happening.

MR. SHEPHERD:  Basically, it's in flux and you've said, okay, we're going to draw a line and we're going to say here is the cut-off point.  That's what the revenue requirement amount is going to be, 1808, and everything else we'll deal with as it keeps changing later on, right?

MR. MAUTI:  Right.  As it keeps changing -- I think we're to the point with the contribution schedule and finalizing 2016 year-end, I think we're at the point of saying these are the best estimates we have; these are the numbers we would suggest.  It's just a matter of how to package them as part of revenue requirement versus going to variance and deferral accounts.

MR. SHEPHERD:  That's also true of the 90 million for Bruce, right?  That's also done; you know what the number is now?

MR. MAUTI:  Correct, that's just a subset of all the liability numbers related to Bruce we could then piece together.  That's why I provided sort of the all information all-in approximately 90 million dollar number yesterday, yes.

MR. SHEPHERD:  So in addition to the 120 million that the ratepayers could get on page 17, there is also another 40 million that they could get if you updated the Bruce,  from the 130 you had the last time around to the 90 now?

MR. MAUTI:  A bit of apples and oranges.  The 119 is both Bruce and prescribed that you have on chart 1A.  The 90 million is just the Bruce number.  Every liability calculation we have has a prescribed impact and Bruce impact.

MR. SHEPHERD:  So the impact -- that's interesting.  So when you say that the 401 on Bruce, which then went down to 130 and is now 90, there's also a change in the prescribed as well?

MR. MAUTI:  I think what I'm saying is if you look at any one of our tables, we have -- chart 1A has a prescribed facilities impact and a Bruce facilities impact.  If you're trying to pull the string on the Bruce facilities impact, you'd have to be able to pick out the Bruce components both of chart 1, chart 1A, as well as 80 million dollar estimate of a credit to the Bruce lease variance account below.

So I'm just trying to pull the Bruce pieces together to give you a Bruce number.

MR. SHEPHERD:  I'm going to ask you to undertake to redo chart 1 with the current information.  Nothing goes in variance accounts; everything is the best information you have right this minute.  Can you do that?

MR. SMITH:  Yes, we'll do that.

MR. MILLAR:  J21.2.
UNDERTAKING NO. J21.2:  TO UPDATE J14.1 TO REFLECT UPDATE TO TEST PERIOD CAPITAL ADDITIONS

MR. SHEPHERD:  I'm correct in saying, because otherwise I wouldn't have asked the question, that the number is going to be lower than 1808.

MR. MAUTI:  Yes, it will be lower than 1808.

MR. SHEPHERD:  Awesome.  Otherwise I'll withdraw the undertaking.

MR. SMITH:  Asymmetrical best information?  Sure.

MR. SHEPHERD:  Can you turn to page 19?  The number we have right now is a billion-688 net -- and maybe it's lower than that, but let's just go with that for now.

Will you accept, subject to check, that the revenue requirement you're asking for for nuclear is $17 billion over the next five years?  It's actually 16996.1.

MR. MAUTI:  I trust you, and subject to check, yes.

MR. SHEPHERD:  I'm going to write that down, that you trust my numbers.

MR. MAUTI:  Subject to check.

MR. SHEPHERD:  And you'll agree that's about -- the amount you're looking for for nuclear liabilities is about 9.9 percent, almost 10 percent of your revenue requirement for the next five years; is that fair?

MR. MAUTI:  Again, subject to pulling together all the credit entries and variance accounts, it's probably in that order of magnitude, yes.

MR. SHEPHERD:  So could we go to -- now I can't find the right page.  Just a second.

So you're not -- page 20 and 21 is an attachment to your Exhibit C2-1-2, and it demonstrates that your quarterly contributions for the next five years are expected to be zero throughout, right, to the seg funds?

MR. MAUTI:  On a combined basis for both the used fuel and decommissioning fund, the net going into the funds would be zero, yes.

MR. SHEPHERD:  Okay.  And can you turn to page 22?  This is your most current -- this is the N11 update, so its a not quite current, but let's use this for now.

On line 15, am I right that that number is the actual net amount that you expect to spend on nuclear waste and decommissioning in the five-year period, actual spending out-of-pocket, where you have to pay somebody to do something?

MR. MAUTI:  Sorry, line 15 says regulatory taxable income impact.

MR. SHEPHERD:  It's the taxable income impact, but it's the net of the previous two lines.  I'm assuming that the net of the previous two lines, your actual expenditures and what you get from the seg fund, the net is what you're actually out-of-pocket in the next five years, right?

MR. MAUTI:  I think the -- yes, one is the total out-of-pocket expenditures, and I believe 14 would be reimbursements from the segregated funds, for a net out-of-pocket of the 133 and the 2017 year, I believe.

MR. KOGAN:  And that's for the prescribed facilities only, to be clear.

MR. SHEPHERD:  Okay.  Well, but you don't pay these monies for Bruce, right?  Doesn't Bruce pay those monies?

MR. MAUTI:  No, the expenditures that we actually are making to manage nuclear waste are paid by OPG.

MR. SHEPHERD:  Are there numbers for Bruce for those two lines?

MR. KOGAN:  I don't know if it's helpful, but there is an undertaking coming that we took yesterday from Mr. Buonaguro that's going to set all that out in a chart.

MR. SHEPHERD:  Okay.  That's confusing.  I heard that exchange yesterday with Mr. Buonaguro and I guess I didn't reach the same conclusion.

So that total of -- will you accept, subject to check, that that total on line 15 is $643 million?

MR. MAUTI:  Probably looks about right, yes.

MR. SHEPHERD:  And can you tell me ballpark what Bruce might be?  Is it another 600 million, or is it lower?

MR. MAUTI:  As we're working through putting the undertaking together, the number for Bruce is in the neighbourhood of about 450 million.

MR. SHEPHERD:  450 million.  So you have no contributions to the seg funds in the next five years, and you have what I get is $1.1 billion of actual net costs associated with nuclear waste, fair?  That's 450 plus 643.

MR. MAUTI:  I would say cash expense related to nuclear liabilities rather than cost, to avoid any confusion.

MR. SHEPHERD:  Yes, okay.  So the ratepayers -- under your proposal, the ratepayers are going to give you $1.7 billion over the next five years.  You're going to spend 1.1 billion of their money on this stuff.  What are you doing with the other 600 million dollars?

MR. MAUTI:  Well, a couple things.  The line 13 expenditures on nuclear waste that you're quoting, first off, don't all come from the segregated funds.  Some of these do come from internally funded sources.

MR. SHEPHERD:  How is that -- that's part of the total.  The 1.1 billion includes all that.

MR. MAUTI:  I'm trying to suggest that if you're suggesting it's all coming from the segregated funds, they aren't all coming from --


MR. SHEPHERD:  I didn't say anything like that.  I said 1.7 billion dollars is coming from the ratepayers.  1.1 billion is your net out-of-pocket because you're going to get some money from the seg fund, right, so you're going to be out-of-pocket $1.1 billion.  You're left with $600 million.

What are you going to do with that money?  Are you going to spend it on nuclear liabilities?  Yes or no?

MR. MAUTI:  What I think you're doing, Mr. Shepherd, is confusing how it is that we recover nuclear liabilities from trying to equate that to a dollar-for-dollar expenditure for nuclear liabilities, and that's not the way that methodology was originally developed and it's not the way it's supposed to work.

MR. SHEPHERD:  Well, actually, I got this question from some normal people who asked me to explain nuclear liabilities.  I don't know why, because they're nuts, I guess.  And I explained that you were going to collect $1.7 billion, and I actually thought you were going to spend 700 million, and they said, so what are they doing with the other billion dollars?  Why are they taking it from us if they're not going to use it for what they say they're going to use it for?  And so the number is actually 600 million, but the same question a normal person asked.

What do I answer that person?  What does the Board answer the public when the public says, well, what are you doing with that extra $600 million that we gave you for nuclear liabilities and you didn't spend on that?

MR. MAUTI:  I think to answer that question we will have to unfortunately go back to the original decision in 2007 for how the methodology was determined for recovering nuclear liabilities.

MR. SHEPHERD:  You agree that you're not going to spend it on nuclear liabilities.

MR. MAUTI:  No, I'm not saying that.  I think I'm just trying to explain how the methodology does work.

MR. SHEPHERD:  No, I know how the methodology works.  But it's still a legitimate question.  What are you going to do with the $600 million?  You're going to spend it on something else, right?

MR. MAUTI:  I think the money that we have coming in would have to be sort of considered as being the ratepayers paying for the cost of nuclear liabilities on a cost recovery basis, as was originally litigated and determined as part of that 2007 proceeding.

This was one of the areas that received a lot of attention, and there was a lot of discussion related to how nuclear liabilities should be funded and should be incorporated into rates.

There were proposals that were put forward by Board Staff, by several of the intervenors in this room, and there was a 35-page finding from the Board in terms of what's the most appropriate methodology.  That methodology is based fundamentally on accounting principles.

The largest components of the recovery methodology are, as we've talked about, depreciation on our asset retirement costs, and it's paying for incremental waste volumes that are generated during production.

The cost, the cash, to manage those waste volumes that come forward today will be expended over several decades into the future.  So that's why trying to compare a cash expenditure in any particular period with the actual cost of nuclear generation during a particular year is a difficult concept, but is one that you need to understand, liabilities are a hundred-year proposition in terms of trying to manage these things.  And you're trying to properly match the cost of generation of nuclear in one year with the actual costs that are incurred from that generation.  And that does not equal the cash expenditures made in any particular period.

That's the fundamental -- and I know you're asking -- a simple person asked you that question, but I think that's probably the simplest way to try to describe it, but we can go into a lot more detail, I know, but --


MR. SHEPHERD:  Yeah, I'm pretty sure I can't say that, but -- thank you for that.  That is helpful.

Madam Chair, I'm going on to a new area, sort of related, but a new area, so would you like to take --


MS. LONG:  Yes, let's take a 20-minute break.  Thank you.
--- Recess taken at 10:57 a.m.
--- On resuming at 11:22 a.m.


MS. LONG:  Mr. Shepherd?

MR. SHEPHERD:  Thank you, Madam Chair.  So I want to talk a little bit about the seg funds, but I want to sort of get -- and then we're going to talk about AROs and ARCs.  I know you're eager to do so.

But first I want to talk about the seg funds and to do so, I want to talk about -- conceptually, am I right that this is similar to pension funds, in the sense that you have you have a long-term liability that you have to discount to the present, and you have to fund it in a separate place, you have to put the money aside for it.  And there is a methodology for determining how much you have to set aside and how much you accrue as an expense?

It's very similar, isn't it?

MR. MAUTI:  I think it has a lot of similar aspects as any long-term obligation such as pensions, yes.

MR. SHEPHERD:  I wasn't just thinking long-term obligations, though.  I'm thinking of long-term funded obligations, because pension funds are one, unlike many other things, where you actually have to set money aside, right?

MR. MAUTI:  And they're a component of nuclear liabilities that have those funds.  We've talk about other portions of those liabilities that we call internally funded and not funds set aside through ONFA.

MR. SHEPHERD:  I'm going to talk about that in a minute.

Let me talk for a minute about the tax side of this.  In nuclear liabilities, the actual contributions that you pay into a fund are deductible for tax purposes, right?

MR. MAUTI:  Are we talking about corporate tax purposes, or regulatory tax?

MR. SHEPHERD:  I thought they were the same in this case.  Are they not?

MR. KOGAN:  The contributions are deductible, sir.

MR. SHEPHERD:  Yes.  And similarly, if you withdraw money from a seg fund, it's taxable, right?

MR. KOGAN:  Yes, it is, pursuant to the regulations under the Electricity Act.

MR. SHEPHERD:  But the accruals, the accounting expenses that you accrue -- the amounts you charge to ratepayers, for example -- are not deductible for tax purposes, right?

MR. MAUTI:  That's correct.

MR. SHEPHERD:  The money you receive from ratepayers is taxable, but the expenses on which it's based are not taxable, not deductible, right?

MR. KOGAN:  That's right.

MR. SHEPHERD:  So you have a mismatch there between the tax treatment, which is basically sort of a cash basis almost, and the accounting treatment, which of course is accrual basis, right?

MR. MAUTI:  It lends itself to timing differences, as there are areas of tax that have that, yes.

MR. SHEPHERD:  But it's very similar to pensions, right?  The same thing happens in pensions.

MR. MAUTI:  The mechanics are that pension expense that's calculated for accrual is not tax deductible, whereas pension contributions I believe are, yes.

MR. SHEPHERD:  That's the same as with nuclear liabilities?

MR. MAUTI:  Yes.

MR. SHEPHERD:  So what happens is that you create an accounting amount and you gross it up, and you have to gross it up because when you receive it from the ratepayers, it's going to be taxable.  So you have to have a grossed-up amount, right?

MR. KOGAN:  Yes, that's the principle that applies to all non-tax deductible items.

MR. SHEPHERD:  And then only a portion of that -- the 1.1 billion, for example, that we were talking about earlier -- is actually tax deductible?

MR. KOGAN:  To the extent there's a difference between the amount recovered based on expenses that are not deductible and the amounts deducted for cash contributions and expenditures, then yes.

MR. SHEPHERD:  And that has the perverse result -- and I'm not blaming you; it's the way it works -- that if you decrease your contributions to the seg fund now to zero, for example, that has the perverse effect that it increases the amount that ratepayers have to pay, right, because there's less deductions covering the tax?

MR. KOGAN:  I don't know if I can call it perverse.  I think it simply reflects the reality of the tax regime we're under.  So if we don't have the contributions, we don't have the deduction to pass to ratepayers.  So it's a flow-through really in that sense.

But is the net effect what you said?  Yes, that is the net effect.  But it simply reflects the tax consequences to us that we're passing on to ratepayers.

MR. SHEPHERD:  If you think about it from a ratepayer's point of view, your contributions have gone to zero and, as a result, they have to pay more because the taxes have gone up.

MR. KOGAN:  I think I'll pass the baton to Mr. Mauti.  You're trying to compare again cash amounts and the base upon which we recover, and draw a direct link between the two.

MR. MAUTI:  I'm sorry, Mr. Shepherd, I lost the thread of your question.  Can you try that again?

MR. SHEPHERD:  If you tell a ratepayer, well, great, the seg funds are fully funded, OPG doesn't have to make any more contributions to the seeing funds, they would naturally think oh, that's great, our rates will go down.

But they won't.  They'll actually go up, won't they, because the tax impact means that you have less shelter and you have to -- the rates actually go up.

MR. MAUTI:  Again, it's a flow-through of the cash basis versus an accrual basis, trying to understand things. But the tax side, yes.  If the amount of contributions goes down on the prescribed side especially, you don't have the shielding of those deductions as a further benefit to pass on to ratepayers, yes.

MR. SHEPHERD:  So the result is that rates go up if the contributions go down, isn't that right?

MR. MAUTI:  I think maybe splitting between the Bruce and prescribed might be a way to look at that.  Because as our evidence talks about with our N1-1-1 update, when the original pre-filed evidence was put forward, there was contributions being made to the used fuel fund.

As a result of the business plan reflecting ONFA where the used fuel fund was fully funded, contributions went to zero and as a result of that impact on the prescribed side especially, there was an impact and an increase in the revenue requirement as a result of no contributions on the prescribed side.

MR. SHEPHERD:  I thank you for that fulsome answer.  But I guess I'm trying to get the simple principle, which I think you've agreed to, which is if contributions go down, all other things being equal, rates have to go up.  Isn't that right?

MR. MAUTI:  Yes, and I was just qualifying that it's specifically on the prescribed side that it has the impact.

MR. SHEPHERD:  All right.  So let's talk about -- so that's the tax part.  Now let's talk about AROs and ARCs.

So AROs are asset retirement obligations and we see, for example on page 25 of our material, a calculation of AROs for the prescribed facilities, right?

MR. MAUTI:  Yes, page 25 is what we call the roll or the estimate of both the asset retirement obligation as well as the asset retirement costs and the seg fund balances for the prescribed facilities on the table on page 25.

MR. SHEPHERD:  I'm right this is one of the table that is no longer correct, right?

MR. MAUTI:  This being the N11, there would be adjustments as a result of the seg fund contribution schedule being approved, I believe, as well as the other year-end adjustments, yes.

MR. KOGAN:  Again, Mr. Shepherd, we're could have filed sort of a slew of these continuity schedules that would have been another five or six or seven tables, as per Mr. Mauti's earlier comment.  We tried to keep what we filed to a manageable level as far as the next round of uptakes.

You keep saying that it's not correct, and I just want to make sure that context is there.

MR. SHEPHERD:  I'm not being accusatory in any way.  I want to make sure the Board knows, when they're looking at something, is this current reliable information, or is it currently out of date.

MR. KOGAN:  This information is out of date.

MR. SHEPHERD:  This is out of date, but we can still use it for the principles.   I'm right that the ARO, the asset retirement obligation, is a liability you put on your balance sheet that is the net present value of a future stream of costs, either to decommission a facility or to dispose of used fuel, right?  That's what an AROs is?

MR. MAUTI:  Future costs related to the waste you've generated to date, as well as what we call fixed-cost programs that do not depend or vary upon future waste being generated.

MR. SHEPHERD:  Well, it's not just -- and you're including in waste the actual facility itself because once it's closed down it's essentially waste, right?

MR. MAUTI:  So it would be in the nuclear station as an example?

MR. SHEPHERD:  Yes.

MR. MAUTI:  Well, that's part of our decommissioning obligation, and that's considered to be fixed cost because, regardless of whether more or less generation happens in the future, you still have to decommission the facility, yes.

MR. SHEPHERD:  Right.  And so the ARO -- and I'm going to come back to ARC and how they interact, but the ARO goes up each year by the amount of the accretion, which basically means as you get closer to having to spend the money the discounted value goes up because you have less discount, right?

MR. MAUTI:  Yeah, as a present value concept the year passes that that cost becomes higher as a result of getting closer to the actual cash flows being used.

MR. SHEPHERD:  And that's the accretion expense, right?

MR. MAUTI:  That's the accretion expense.

MR. SHEPHERD:  Okay.  And then it goes down by amount spent, so if you have -- if you start to spend some of the money that's in that set of future payments, then it's no longer a liability, right, because you spent it?

MR. MAUTI:  Correct, the cash outflows coming out -- the money being spent on the liability programs reduces, all else being equal, that ARO, yes.

MR. SHEPHERD:  And it's also adjusted -- anytime you do an ONFA reference plan, one of the things that may happen is that you look at that future set of payments and decide, we've got to change those, our estimates have changed.  And that also adjusts the ARO, right?

MR. MAUTI:  Correct, that every ONFA reference plan, because you're going back and you're looking at re-estimating all those costs, five years passes, you have better information, it's very highly likely that all those programs require an adjustment, and it's the net up or down becomes the change in that ARO adjustment.

MR. SHEPHERD:  And that -- so the ONFA adjustment happens once every five years or more often if you have to do an interim plan, but let's say every five years, because of the ONFA plan, right?

MR. MAUTI:  Yeah, because of the requirement to re-estimate all the costs that's filed as part of the ONFA program, yes.

MR. SHEPHERD:  And -- but the accretion amount and the reductions because of the amount spent every year, they happen every year regardless of the ONFA plan, right?

MR. MAUTI:  The ONFA plan, because it looks in when those cash flows happen also estimate when those cash flows are going to happen, so it's all part of the same looking at those cash flows to try to estimate when they're going to be incurred to generate what you feel that liability would be.

MR. SHEPHERD:  No, but -- I agree, but in terms of your calculation of the obligation each year, you don't calculate the obligation based on something in the ONFA plan, you calculate the accretion expense based on an assumption about the accretion each year.  And you calculate it each year, right?  And then similarly you calculate the amount you've spent in the plan by what you actually spent, right?

MR. MAUTI:  Correct.  Its actual cost would actually reduce the ARO, and the calculation of accretion is based on that actual cost.

MR. SHEPHERD:  So if we look at this table 3, we see at the top, we see the asset retirement obligation, the opening balance in 2016, and then there was an adjustment because there was an ONFA reference plan, right?

MR. MAUTI:  Correct.

MR. SHEPHERD:  You see that in line 2, right?

MR. MAUTI:  Yes, line 2, yes.

MR. SHEPHERD:  And that's a reduction because all the net puts and takes in the future payments resulted in a change in the discounted value of the future obligation?

MR. MAUTI:  Right.  Said differently, the estimate from the 2017 ONFA reference plan, we estimated the cost to be lower than they otherwise were in our asset retirement obligation, so we therefore reduced that liability.

MR. SHEPHERD:  And you would describe the change in the fuel bundle containers?  Is that a big chunk of that?

MR. MAUTI:  Yeah, there's probably operation and there's probably two big things that happen.  There's the
-- we'll call it the more cost-effective container that's planned on being used to house nuclear fuel for the long-term disposal, and there is also a change in the in-service date from when the repository to house used fuel would be available.  Both of those have the impact of reducing the liability.

MR. SHEPHERD:  Okay.  Now, then if you look at page -- so your adjusted opening balance is on line 4.  That's 9-billion and 10.

MR. MAUTI:  For the prescribed facilities, yes.

MR. SHEPHERD:  Okay.  And then you have lines 5 and 6, which I didn't understand until you talked with Mr. Buonaguro yesterday, and I think I now understand that those are accruals, right?  Those are accruals of annual expenses, but they're not actual cash expenses, they're accruals.

MR. MAUTI:  These are accounting-based costs to take into account the projected number of fuel bundles to be created each year and the projected number or amount of low- and intermediate-level waste that's going to be produced over the five-year period.

MR. SHEPHERD:  So that increases your future liability based on the amount of waste you're producing, right?

MR. MAUTI:  Yes, you talked about the increase in the ARO for accretion.  This is the other main driver that's going to increase that future obligation, is because you've created more waste that you have to deal with in the future.

MR. SHEPHERD:  Now, the accretion expense is -- it applies a known discount rate, which is actually -- it's in the ONFA plan, right?  Is the discount rate in the ONFA plan or is it something that you determine?

MR. MAUTI:  The discount rate that we're showing in this table is as a result of the weighted averaging of the different, we call the tranches or different levels of liability as they've been created.  Over time it results in a weighted average discount rate or accretion rate that we use for this.

MR. SHEPHERD:  Okay.  And so all of those costs that were discounted have moved a year forward, and so the discounted net present value of those costs has gone up by $490.5 million, right?

MR. MAUTI:  Correct, it's looking at that 9-billion-dollar value that you showed above and applies that weighted average accretion rate through the other changes in ARO that happen each year, which is why this is a -- we call this a rolling table because it tries to capture all the changes that would happen to ARO.

MR. SHEPHERD:  And then the next line, line 8, is what you actually spent each year on these items, on used fuel, on waste management, et cetera, decommissioning, right, because you have annual costs, you have low-level nuclear waste, you have facilities that you have to maintain, you have people you have to pay, stuff like that, right?

MR. MAUTI:  Again, all this is on the prescribed facilities.  Your next page deals with the Bruce facilities.

MR. SHEPHERD:  I'm going to get to that, not to worry.  I'm not going to go through it line by line.  I just want to get the principles down.

So then you get to the closing balance, 9347, and sort of like rate base -- I mean, it's not rate base, but sort of like rate base.  You then average it for the year to get your average ARO for the year 2017, right?

MR. MAUTI:  That's correct.

MR. SHEPHERD:  And you use -- you'd actually use opening plus closing divided by 2?

MR. MAUTI:  Yes.

MR. SHEPHERD:  So you don't actually do it monthly.

MR. KOGAN:  No, we don't, but we do adjust out with our significant -- like, with an ARO adjustment at the beginning or at the end of the year.  We would do it without that adjustment, because that would just be inappropriate weighting.

MR. SHEPHERD:  Perfect.  So that's -- for the prescribed facilities your asset retirement obligation, which shows on your statement, is 9179.  Do you show the average or the closing balance on your statement?

MR. MAUTI:  This would be the closing balance at the end of -- in this case -- well, this would be the end of 2017 once it comes around, but --


MR. SHEPHERD:  Okay.  So then I want to go down -- I'm going to come back to the seg funds, but I want to come down to asset retirement costs, because when you set up an ARO you have to set up an equivalent asset retirement cost, right, to depreciate over time.  That's what happens.

MR. MAUTI:  Yes, that's the basic principle of setting up an ARO --


MR. SHEPHERD:  So you have this liability, and you're going to charge it to income statement each year over the life of the liability, basically?  Actually over the life of the production associated with that, right?

MR. MAUTI:  Correct again, except for that portion of ARO that gets put on because of incremental waste generated.  That doesn't get set up and amortized again.  You've already flowed that through your income statement through fuel and OM&A expense.

MR. SHEPHERD:  Exactly.  And so what you do is you take that ARO and you depreciate it just like any asset, right?

MR. MAUTI:  Correct.

MR. SHEPHERD:  Over the life of the station?

MR. MAUTI:  Correct, we have these balances that are maintained at a station level, so depending on the end of life of each of the stations it would be calculated that way.

MR. SHEPHERD:  So you see that line 1, for example, $9.2 billion and line 21 are very different, but at one time they were actually identical, right?  They had to be.

MR. MAUTI:  The theory would be that, yes, at some point beginning of OPG, beginning of when you open a nuclear facility, for example, your day-one obligation would be, set up that ARO, set up an obligation for decommissioning and waste management, yes.

MR. SHEPHERD:  But the ARO goes up over time because you get closer to having to spend the money and the ARC goes down because you're depreciating it.

MR. MAUTI:  ARO will go up, but it also takes into account when those expenditures are going to happen.  So if you have large expenditures coming out it will take it down, but as a principle it deals with all your future spend to happen and given some of those spends happen multiple decades into the future, your ARC depreciates.  And as you see here, that's why you end up with an ARO higher than the ARC.

MR. SHEPHERD:  I want to talk about the seg funds now, and before I get to this page -- hold page 25 -- I want to go to page 27.

Your seg funds currently are fully funded, right?

MR. MAUTI:  At the time of the end of 2016, the balances were -- as noted on lines 6 and 7 of your page 27, the used fuel fund we say has been marginally over-funded at less than 1 percent.  So that will obviously oscillate and change as the months -- I can't tell you today whether, at the end of the first quarter for example, it was higher or lower.  We would have to check.

The decommissioning fund is at 120 percent funded at the end of 2016.

MR. SHEPHERD:  So in aggregate today, this minute, they are over-funded by a substantial amount, by a billion and a half or so probably?

MR. MAUTI:  In aggregate?

MR. SHEPHERD:  Yes.

MR. MAUTI:  I don't think equity markets have done that poorly in the first quarter.  No, I believe they would be over-funded, yes.

MR. SHEPHERD:  All right.  So if you can go back to table 3, I'm looking at the seg funds balance and this is the actual balance in the prescribed facilities funds, right?  There's two prescribed facilities funds, one for used fuel and one for decom?

MR. MAUTI:  Correct, there's two funds, and we always try to maintain them separately.  Yes, there's two funds.

MR. SHEPHERD:  Let me clarify something.  Are there actually four funds, or are they two -- one for decommissioning for all facilities and one for used fuel for all facilities?

MR. MAUTI:  There are two legal funds; one is a decommissioning fund, and one is a used fuel fund.  Within each of those, all stations have to be are covered by the decommissioning fund for those expenses that are eligible for decommissions, and vice versa for used fuel.

MR. SHEPHERD:  So this particular seg fund, we'll use this one as the example, you see at line 12, the opening balance is 8-billion-240.  That's actual money being held and invested for this future obligation, right?

MR. MAUTI:  These would be the amounts that are -- I think we've used the term capped at or limited to the value of the underlying liability in the ONFA reference plan.

The balances, the over-funded portions of these funds that you showed on page 27, we do not reflect those values in the segregated funds on tables 3 and 4, because they've been classified, I believe, on this page of the exhibit or subsequent pages as due to the province.  So these are monies we do not reflect, because OPG doesn't have access to those funds.  They are held and as a condition of ONFA.  They cannot be used for any other purpose.  So if our liability is, for example, 100 and there's 105 dollars in funds, we can't show the extra five dollars because it's not our funds to be able to access.

MR. SHEPHERD:  But if your nuclear liabilities end up being more than the balance in the fund -- sorry, more than the this balance you're showing here, you can use the money for those liabilities, right?  It's there for that purpose and still actually in the fund.

MR. MAUTI:  As a result of a subsequent change -- say when you do the next ONFA update, if instead of a reduction there is an increase for whatever reason, then you would look at the total value of the funds to be able to understand whether you can recognize those or not.

MR. SHEPHERD:  When you're over-funded by a billion-and-a-half dollars, that billion-and-a-half dollars is still actually in the funds.  You just don't show it as an asset on your balance sheet, right?  You show it as an asset and then a liability to the province?

MR. MAUTI:  You don't show it as the asset value.  We recognize the fact that there's an amount due to the province, and that's disclosed within our financial statements.

MR. SHEPHERD:  Do you show on your financial statements the actual balance in the seg funds, or do you show the balance net of the due to province?

MR. KOGAN:  The balance shows net of the due to province, but obviously the notes show the details of that breakout.

MR. SHEPHERD:  So basically, if you think of the seg fund, it doesn't actually belong to you.  It belongs partly to OPG and partly to the province.  So on your balance sheet, you can only show the part that belongs to you, right?

MR. KOGAN:  The part we have access or right to, yes.

MR. SHEPHERD:  To cover your obligation?

MR. MAUTI:  Correct.

MR. SHEPHERD:  Okay.  That's interesting.  So table 4, then, is the same calculation -- and by the way, before you go to table 4, your seg fund goes up by the earnings in the fund, right, because the money is invested.  And it goes up by the contributions, and then sometimes the fund pays out money to you to cover costs associated with nuclear liabilities, right?

MR. MAUTI:  Correct, each of the funds has specific costs that are eligible to be reimbursed  If we expend money in those areas, then yes, we get money back from the segregated funds for that.

MR. KOGAN:  And the earnings amount, as we describe in C212, are capped when the funds are over-funded.  So the amount shown may not necessarily be the actual physical returns.

MR. SHEPHERD:  The actual earnings are a lot higher than that, because there's earnings on an additional billion-and-a-half dollars?

MR. KOGAN:  They may be higher or lower.  But as we discussed, in order to cap the segregated funds, assets are recognized at the liability values when the fund is over- funded, you would do that by also limiting the earnings, or at least recording the earnings at the growth rate of the liability.

MR. SHEPHERD:  Sorry, I didn't understand that.  I thought that if 10 percent of the funds didn't belong to you, then 10 percent of the earnings don't show as an increase in your part of the fund.  Isn't that right?

MR. MAUTI:  I think you're both saying the same thing.  I think what Mr. Kogan is saying there's more actual return money in the fund that we -- parts we cannot show.  We don't forecast earns on the part we cannot show.

MR. SHEPHERD:  I thought Mr. Kogan said that if the account is in surplus, that when you adjust it could actually mean the earnings are higher or lower.  How can that be?

MR. KOGAN:  I think what happens is that we would record earnings at the liability growth rate, provided we continue to be in an over-funded position.  If the market loses a lot of money, provided that we're still over- funded, we would effectively dip into the over-funding, so to speak from an accounting recognition standpoint, and still be able to recognize the earnings at the liability growth rate.

So we would recognize some of the unrecognized over- funding into earnings and as an asset, because the actual money has been lost, so to speak, through the markets -- if that makes sense.

MR. SHEPHERD:  And the other way around, too, right?  If the liability grows more slowly than the investments, then you wouldn't record all the earnings on the investments.

MR. KOGAN:  Correct, and that would result in the due to amounts growing correspondingly.

MR. SHEPHERD:  And the reason is because the balance that you show as your share of the seg fund can never exceed the liability associated with it, right?

MR. MAUTI:  Correct, that's the principle, yes.

MR. SHEPHERD:  All right.  So the difference between the actual earnings and the earnings that you show in this calculation on the fund goes to increase or decrease the surplus.

MR. KOGAN:  Yes.  And in fact, it may be useful context.  I think this was recognized actually in the previous decision, when I think this matter was litigated.  And I think the Board recognized that having that cushion, for example, was appropriate given that the funds could oscillate over time, and in fact you could be needing to dip into that monies.

MR. SHEPHERD:  Let me understand.  Figure 3 is prescribed facilities, and figure 4 is Bruce facilities.  And if we add the two up, we get $16.3 billion in the seg fund; is that about right?  It's 8409 and 7882.7?

MR. MAUTI:  Subject to check.  I'm trying to find exactly the numbers you're trying to reference.  You're looking at opening and closing balances of 17?

MR. SHEPHERD:  I'm looking at the average, because that's the number you use, right?  Line 17, table 4, it's 7802.7 and in line 17 on table 3, it's 8409?

MR. MAUTI:  16.3 or something like that.  You --


MR. SHEPHERD:  Okay.

MR. KOGAN:  That's the accounting asset.

MR. SHEPHERD:  That's the accounting asset, and there's actually another 1.5 billion in there.  So the real amount of money sitting in there is 17.8 billion.

MR. MAUTI:  I think there are three different due to province amounts, as we've disclosed in our financial statements.  There is the overfunding and the decommissioning and the used fuel fund that I think you went to on page 27.  And then there's also a due to the province because for a large share of the used fuel fund the Province of Ontario also guarantees a rate of return on that portion of the used fuel fund.  That was a construct from the original ONFA that they would provide that level of assurance, and that, I think, generates approximately 1.9 billion of an additional due to the province.

MR. KOGAN:  And that's in part noted in footnote 23 on that page.

MR. SHEPHERD:  Yeah, but I was sort of asking the more simple question.  I understand that part of it, but the more simple question is how much is sitting there right now, and the answer is $17.8 billion, right?  That's what's actually invested right now.

MR. MAUTI:  Well, no, again, just trying to be fulsome here.  I don't want to leave out another $1.9 billion of amounts that are sitting in the used fuel fund, but because of the fact that the province guarantees a certain amount, the earnings in excess of that amount again, because the province provides that guarantee, are not at all available to OPG and are also sitting as a due to the province.

MR. SHEPHERD:  Yeah, well, and so is the 1.5 of surplus.

MR. MAUTI:  Correct --


MR. SHEPHERD:  The only amount that's your asset is 16.3, right?

MR. MAUTI:  The only asset that we have is the sum of the two numbers, the 16.3, yes --


MR. SHEPHERD:  Oh, you're saying that there is another 1.9 billion in the fund?  Is --


MR. KOGAN:  Maybe I just -- because I'm just referencing our financial statements so that we don't have to guess at the numbers.  At the end of 2016 the fair value of the funds was about 19.4.  And that was net of a due to province of about 3.4, and that includes what Mr. Mauti described as both the due to for the guaranteed portion of the used fuel fund as well as the amounts actually shown in chart 2.

MR. SHEPHERD:  Okay.  So here is what I'm trying to understand.  So as of the end of 2016 you had 16 billion, which was not what was in the fund, but it was what the liability was of the fund, right?

MR. MAUTI:  Those are the liability estimates going forward that the fund was to cover, which limited the amounts that we could recognize in our financial statements related to that, yes.

MR. SHEPHERD:  Okay.  And so here's what I'm trying to understand.  As of the end of 2016 your liability on your ARO was about 19.1 billion, right?  9.01 and 10.083.  After the year-end adjustments.

MR. MAUTI:  Yes, 19.1 billion, yes, from our financial statements.

MR. SHEPHERD:  All right.  So what I don't understand is if the seg funds are overfunded and they have $16 billion of the amount that is yours because that's the funding amount, what's that additional $3.1 billion?

MR. MAUTI:  As we've talked about, there are programs that are not funded through the ONFA program.  We've referred to them as our internally funded programs.  So there's a liability, that ARO liability, that we show in our financial statements is comprised not only of the liabilities that ONFA funds but also liabilities that are unfunded from ONFA.

MR. SHEPHERD:  So when we look at the liability in the ONFA plan -- we can actually go to the ONFA plan, and it has a stream of payments and discounting, and we can see how they got to the number, right?

MR. MAUTI:  Yes.

MR. SHEPHERD:  Do we have the same thing for your 3.1 billion?

MR. MAUTI:  A stream of flows to show how the ARO of 19.1 billion is calculated, or --


MR. SHEPHERD:  Well, I'm not so much concerned about the 19.1.  We know what 16 of it is.  It's fully funded.  But the 3.1 is not funded, right?  That's because that's stuff that doesn't get paid by the seg funds, right?

MR. MAUTI:  So the calculation for the accounting ARO that we have, which is a three-billion difference that you reference, there's multiple things that are -- or from an accounting side are different than what you're showing on the funded basis through your seg funds to draw your conclusion.  So I mentioned the internally funded operations are one that's a component of that.

We don't necessarily calculate ARO to be internally funded versus ONFA-funded, we go by the programs, and in a large sense some of those programs are 100 percent ONFA-funded, some are combination.

So there is both a combination of those things and there are other differences between how the accounting ARO is established versus what the funding obligation through the ONFA program sets up.  So there are a multitude of differences.  I mentioned probably one of the more significant ones that's easy to sort of grasp, and that is the difference between the internally funded and the ONFA-funded, but there are other differences.

MR. SHEPHERD:  Such as?

MR. MAUTI:  So the way the ARO is established, we've talked about how each time there's a tranche that comes up.  You use the discount rate that exists at that time that you're making a change through U.S. GAAP.  So that -- we've gone through, I believe, seven different increases of the ARO tranche, and this last time there was a decrease in the tranche, so as a result you end up with sort of a weighted average discount rate through a result of those tranches that are slightly different than the funding assumptions that are being used as part of ONFA --


MR. SHEPHERD:  Why would ONFA use different discount rates than you use?

MR. MAUTI:  Well, the ONFA discount rates, since a it's a funding vehicle, uses the long-term target rate of return that the funds are structured to deliver to determine that discount rate, and it's in fact -- one sort of determines the other -- the ONFA discount rate, which is currently 515 (sic) percent.

The nuclear funds programs that are jointly managed between us and the province of Ontario looks at an asset liability strategy that targets a return to those investments to earn that 515 percent.

The weighted average discount rate that we're looking at for accounting purposes -- I'm trying to remember the exact number --


MR. SHEPHERD:  4.950.

MR. MAUTI:  It's not exactly 515.  I would have to go back and find --


MR. SHEPHERD:  It's 4.95, right?

MR. MAUTI:  4.95.  I think that sound right, yes.

MR. SHEPHERD:  So how much of that $3.1 billion is the result of the government using a different discount rate than you use?

MR. KOGAN:  Sorry, to be clear, the government uses versus we use -- what one rate is prescribed by ONFA and one is effectively determined by us as prescribed by accounting standards for U.S. GAAP.

MR. SHEPHERD:  It's actually management judgment, isn't it?  It's right in U.S. GAAP.  It's management judgment.

MR. MAUTI:  And the judgment is you're supposed to try to find a series of risk-adjusted cash-flow products out there that would equal the cash flows you would expect to be coming from ONFA.  Given the fact we have cash flows that last 50 to 100 years, you're not going to be able to find similar security, so we determined it to be the longest traded -- publicly traded government of Ontario bond that would be the closest proxy to what that discount rate would be at any time.

MR. SHEPHERD:  The calculation of your ARO is actually in a spreadsheet, right?

MR. KOGAN:  That may be a terabyte large spreadsheet or --


MR. MAUTI:  It's a big spreadsheet, yes.

MR. SHEPHERD:  Fine.  It's a spreadsheet, right?

MR. MAUTI:  It's a calculation, as I said, of those seven different tranches added up, weighted average calculated, yes.

MR. SHEPHERD:  Doesn't sound all that complicated, but I -- okay.  I understand.  because each one is a stream of payments, right?  Each of those tranches is actually a stream of future payments that then have to be discounted, right?

MR. MAUTI:  Correct, and every time you make a change you look at what you've already booked to date, looked at what that new estimate is of those future discounted cash-flow streams, and that delta becomes the next tranche, whether it's up or down.

MR. SHEPHERD:  So it's quite straightforward for you to identify how much of that $3.1 billion that you say is unfunded, but ONFA says is funded, how much of that is because of the discount rate, the difference in discount rate between yours and theirs?  You can calculate that, right?

MR. MAUTI:  Calculating differences in discount rate is one thing.  I wouldn't typify that as ONFA suggests everything is fully funded.  There are those programs that are, by definition, not funded through ONFA.  That is a portion of that delta and difference as well.

MR. SHEPHERD:  I'm trying to get to the difference.  Is the $3.1 billion $3 billion of lower discount rate that you use than the government does?  Or is it 100,000 because of the discount rate?  Surely that would make a difference.

MR. MAUTI:  As you can appreciate, there's a lot of steps within the calculation of the ARO.  Order of magnitude?  We'd probably have to take an undertaking to try to decipher that difference for you.  We'd have to go back and look at detailed models that do the calculations.

There are likely other differences as well, so if what I'm hearing is you want some sort of idea in terms of what that split is.

MR. SHEPHERD:  I would like to know, if I could, what  3.1 billion is made up of, and if any significant amount of it is the discount rate, I would like to see the calculation why.

MR. MAUTI:  Okay.

MR. SMITH:  Yes, we can do that.

MR. SHEPHERD:  Thank you.

MR. MILLAR:  J21.3.
UNDERTAKING NO. J21.3:  TO EXPLAIN THE DIFFERENCE BETWEEN ARO AND OPG SEGREGATED FUNDS AND QUANTIFY THE PORTION OF THE AMOUNT RELATED TO DIFFERENCE THAT RELATES TO THE DISCOUNT RATE USED IN THE CALCULATION OF EACH

MR. SHEPHERD:  And last I want to talk briefly about what's in rates.  There's numbers all over the place, right.  So I'm not going to -- this is absolutely the most complicated area of regulatory law in Ontario.  You agree, right?

MR. MAUTI:  Thank you for that, yes.

MR. KOGAN:  And regulatory accounting.

MR. SHEPHERD:  Better you than me.  I was a tax lawyer and tax law is nothing compared to this.

I want to just try to simplify as much as possible what's actually being asked for from the ratepayers.  So what you're asking for is the depreciation of the ARC -- I'm looking at page 23, which I think is the easiest place to get it. I'm doing prescribed facilities now and I'll get to Bruce and talk about the difference, because the difference is actually quite narrowly defined, I think.

So we have the depreciation of the asset retirement cost, which we talked about earlier.  It's just taking the original cost and spreading it out over the life of the station, right?

MR. MAUTI:  Correct.

MR. SHEPHERD:  And then you have -- lines 2 and 3 are accrual amounts associated with expenditures, with costs, accrued amounts of costs for used fuel and waste as you produce the used fuel and the waste, right?

MR. MAUTI:  Right.  So for context of that, it would be -- for every fuel bundle created, it would be an estimate in today's dollar terms of all the costs that would be required to take care of that fuel bundle, up to an including when it's ultimately put into the ground into a DGR.

MR. SHEPHERD:  Then the next part is the accretion amount, but not the accretion like on the whole seg fund -- the whole ARO, sorry -- but only on the portion of the ARC that is currently unamortized, right?

MR. MAUTI:  The return on rate base calculation here was the most hotly debated topic in the 2007 decision, and it's a recognition that the return on that unamortized rate base gets one of two rates.  If it is lower than the unfunded nuclear liability, it would get the weighted average accretion rate.  And if it were higher than the unfunded nuclear liability, it would earn a weighted average cost of capital.

MR. SHEPHERD:  And the reason why currently it's at the accretion rate is because the opposite side to that is not something you actually paid for, but a liability that in turn goes up at the accretion rate, right?  So in fairness, they balance each other out, fair?

MR. KOGAN:  Could you say that again?

MR. SHEPHERD:  The rate on the ARO that you're increasing it by is the accretion rate.  So the rate of return that you get on the remainder of the ARO that's unamortized, the ARC, is also the accretion rate?

MR. KOGAN:  Yes, that was the Board's decision.  And just for clarity, the unfunded nuclear liability, again per that Board's decision -- is defined as the difference between the segregated funds and the accounting asset retirement obligation.  In fact, that's also why we use average values, because that came from that decision as well.

MR. SHEPHERD:  Then you have to gross-up the total to get to the amount that you collect from ratepayers for the prescribed facilities because, as we've talked about, none of those things are deductible, right?

MR. KOGAN:  That's right.

MR. SHEPHERD:  And on the other side, the value of the deductions for the things you are spending money on, that comes in your tax calculation, right?

MR. KOGAN:  That's correct.

MR. SHEPHERD:  Okay.  These numbers on line 8, those  are not the net amounts you're getting from the ratepayers,  Because they're also getting the benefit of the tax deductions for the other things you're spending, right

MR. KOGAN:  I guess a couple of things.  One is that  line 7, the income tax impact, that does reflect the benefit of the contributions.

But as I noted yesterday with Mr. Buonaguro -- and I thin, we noted it also in C2-1-2 -- it does not include the extra benefit for the internally funded expenditures.  In fact, all else equal, the number would be a little bit lower as far as looking at what the revenue requirement impact is, if you factor that in.

MR. SHEPHERD:  And you gave an undertaking on that, right?

MR. KOGAN:  Yes, and if you look at everything in C2-1-2, there it's in that sense more comprehensive, because it captures it.

MR. SHEPHERD:  The end point captures it, right.  All the internal -- the intermediary calculations don't all capture it.  But at the end, it's all brought together in a final set of numbers.

MR. KOGAN:  In the final set of numbers in C2-1-2, yes, it's all in.

MR. SHEPHERD:  Now, in the case of the Bruce facilities, we have all the same things, except that the return component -- tell me whether this is right.  The return component is the net of the accretion expense on the ARO and the seg fund earnings related to Bruce?

MR. MAUTI:  The decision in 2007, I think, reflected the fact that as Bruce is an unregulated facility, a return on rate base concept should not apply to the Bruce facilities.  So in lieu of that calculation, the decision was that Bruce should be reported on a fully U.S. GAAP basis.  So the accretion in the seg fund earnings lines reflect what would be needed to look at the Bruce facilities purely on U.S. GAAP cost basis.

MR. SHEPHERD:  At the time, it was actually Canadian GAAP, right, but they're the same.

MR. KOGAN:  It was actually just GAAP at the time; that's what the Board decision said.

MR. SHEPHERD:  But you were under Canadian GAAP and that's what you used at the time, right?

MR. KOGAN:  Yes.

MR. MAUTI:  U.S. GAAP and Canadian GAAP, for this issue, is I believe identical.

MR. SHEPHERD:  The words are different, but the result is the same, okay.

But otherwise, other than that that component which is basically comparing lines 4 and 5 with lines 12 and 13, other than that, they're basically the same calculation, right?

MR. MAUTI:  I think it reflects the accounting basis that was used for depreciation and the variable expenses for incremental waste produced, that is identical with both.  And then apart from perhaps the tax and the return components on both of them, they are different between prescribed and Bruce.  But what I'll call the guts of the calculation, being depreciation and variable expenses on an accounting basis, are identical with the both.

MR. SHEPHERD:  Awesome.  And just to square the circle, these numbers on page 18 are out of date numbers, right?

MR. MAUTI:  Yes, they are.

MR. SHEPHERD:  Okay.  And I think that's everything.  Thank you, Madam Chair, for your indulgence.

MS. LONG:  Thank you, Mr. Shepherd.  Mr. Yauch, do you want to start now, or would you prefer to take our lunch break and continue after lunch?

MR. YAUCH:  I would prefer to go after the lunch break, if that's okay with you.

MS. LONG:  That's fine.  We'll take our one hour lunch break now and be back at 1:15.
--- Luncheon recess taken at 12:14 p.m.
--- On resuming at 1:23 p.m.

MS. LONG:  Mr. Smith, are there any preliminary issues?

MR. SMITH:  No, Madam Chair.

MS. LONG:  Okay.  Some people have been asking about the time schedule for next week.  So I just wanted to confirm that we will be starting next Wednesday at one o'clock in the afternoon and Thursday morning at 9:30 as per usual.

Mr. Yauch.

MR. YAUCH:  Good afternoon.  I have a compendium.  I hope you have copies of it.

MS. LONG:  Does the witness panel have copies?

MR. MAUTI:  Yes --


MR. MILLAR:  It's K2.2 -- K21.2.
EXHIBIT NO. K21.2:  ENERGY PROBE CROSS-EXAMINATION COMPENDIUM FOR OPG PANEL 5.
Cross-Examination by Mr. Yauch:

MR. YAUCH:  So I want to start with an issue -- a question about the CRVA.  I know it's been talked about a lot, but I just, I get a lot of calls and e-mails from our supporters, so I kind of want to ask you a question because it makes my head hurt and I can't always explain it.

If we go to page 2 of my compendium, in the scenario that Unit 2 comes in a year late, you know it's going to come in in 2021 rather than 2020, you book an entry into the CRVA, correct, at that point?

MS. ARSENEAU:  Yes.

MR. YAUCH:  And the entry you book in the CRVA is the revenue requirement equivalent of it going into rate base, right?

MS. ARSENEAU:  It's the difference between the revenue requirement that was approved of it coming into rate base and the fact, yeah, that it's not --


MR. YAUCH:  Right.  So just the difference of --


MS. ARSENEAU:  Yeah, that's correct, the difference --


MR. YAUCH:  -- 4.8 billion --


MS. ARSENEAU:  -- between forecast and actual.

MR. YAUCH:  Okay.  Now, at the same time that ratepayers are essentially getting a credit in the CRVA and they're earning interest on that of 1.1 percent of what you've essentially over-collected, at the same time in the revenue -- the rate smoothing account, that's based on the revenue requirement the Board approved now, or 2017, and they're paying interest on revenue that's being deferred and in fact you actually didn't need because it's a year late, and the interest on that amount is higher than what they're getting credited in the CRVA.

MS. ARSENEAU:  So, yes, the differences in the revenue requirement between forecast and actual are recorded in the CRVA at 1.1 percent or whatever the Board-approved interest rate is at the time, and, yes, the deferrals in the rate smoothing account attract a long-term interest rate.

MR. YAUCH:  So while they're getting -- they're getting a break on one hand because you're not actually -- you know, your asset is not in-service, plus you're paying a higher interest rate on the other hand based on the projection of you getting that in-service in time, right?

MS. ARSENEAU:  So they receive the credit back, the revenue-requirement impact back in the CRVA in the short-term, if you will, because that will be cleared, let's say in 2022, when what we assume is when the next application will be, but OPG hasn't collected the deferred portion of that revenue requirement from customers, and it won't be collected until after -- until the draw-down period of the account.

MR. YAUCH:  Right.  So the long-term they'll be paying for it, but not in the short -- not over this test period.

MS. ARSENEAU:  Can you rephrase the question?

MR. YAUCH:  So over the long-term they will be paying interest on money that you didn't need because you didn't bring it in time, but won't occur over this five-year period.  It happens over, I think ten years or 20 years, however long the rate smoothing account goes for.

MS. ARSENEAU:  In the long-term they will pay -- the long-term -- the debt rate interest rate on the balances in the rate smoothing deferral account, but in the short-term they will receive the revenue-requirement impact back that -- that's the difference between it not coming into service in 2020.

MR. YAUCH:  Okay.  And if the Board were, for example, to say, as some parties have suggested, to give you a P zero amount, that you get 4.1 billion for Unit 2, not the 4.8 -- I'm not suggesting they do that, just if -- for hypothetical -- and it comes in a year late, the revenue requirement we approve now over the next five years is actually lower, so the amount in the rate smoothing account is smaller, so if you come in a year late, that difference shrinks between what you're earning on the -- or what ratepayers are earning in the CRVA and what they're paying in the rate smoothing account, right, if the Board approves a smaller amount for the Darlington upfront.

MR. FRALICK:  There's two points I would like to make in response that, the first being that the rate smoothing account in the proposal is based on a 20-year view of how we see our cost trajectory go in order to accommodate the intentions of the regulation.  So a one-year move in in-service, for example, when you spread that context over a full 20 years, may not ultimately change the proposal that we will be making under the rate smoothing deferral account or our rate smoothing period.

The second point I would say is the intention of the CRVA in projects in general is for us to make the best forecast for what we think that project is going to require and when it's going to hit service and then to use the CRVA to track the differences to actuals as they happen.

So the notion of a P zero, for example, would be it does not -- wouldn't meet the intent of what the CRVA is to do, because you'd be asking us to make a forecast for a project, for an outcome that we don't believe is going to occur.  So that's not the way that we would forecast for the purposes is what I think that you're saying is having the costs flow from one account into the other.

MR. YAUCH:  Okay.  Even though a CRVA -- if you did a P zero, that would be in a way beneficial to OPG, because then when you clear the account in 2022 you get it all under rate base as opposed to smoothing it over a longer time period.

MR. FRALICK:  We would, but I think that the follow-on point to that would be, you know, if we ended up with a larger rider, say, in 2022 as a result of a large CRVA balance of some sort, we would need to take that into consideration when you're looking at the next five years and what the smoothing would look like in order to make that profile smooth.  So I'm not sure that you can simplify this in those terms.

MR. YAUCH:  Okay.  If we can go to page 3, please, of my compendium.  This has been talked about a bunch.  I'm not going to go on it.

What you're proposing here is that if the Board approves your application as is, $114 million will flow through a deferral account to reconcile the difference between your 45 percent equity thickness and the 49 percent you're proposing, correct?

MR. FRALICK:  For the hydroelectric side --


MR. YAUCH:  The hydro side, right.

MR. FRALICK:  Yes.

MR. YAUCH:  So if the Board approves your application as is, there is $114 million that we know for a fact that will come on to ratepayer bills.  It will flow through deferral account and be cleared and won't have to pay for it.

MR. FRALICK:  Yes, those are the entries that we've outlined on the table associated with 9.8 Staff 217, which you see on the next page.

MR. YAUCH:  Okay.  So if you can go to page 5, please.  This -- so maybe your other deferral accounts.  So your hydroelectric incentive mechanism variance account -- now, if I heard you correctly this morning you said that the threshold is actually higher now at 65 million?  It's been increased?  Did I hear that correctly, or no?

MR. KOGAN:  The 65 was the revised total other revenue number, which --


MR. YAUCH:  Okay.

MR. KOGAN:  -- encompassed hydroelectric incentives, as well as other amounts that were from EB-2013, the ancillary revenues, primarily.

MR. YAUCH:  Okay.  So that -- the 58 million is the -- that's the threshold for the HIM account.

MR. FRALICK:  No, the -- as shown on line 11, the threshold --


MR. YAUCH:  Sorry, 54 --


MR. FRALICK:  -- 54.5 million.

MR. YAUCH:  And I'm not going to go to it.  In 2016, according to your financials that you released early this month, the hidden revenues were lower than 26.5.  They were in the teens, correct?  So you haven't, like, done better on this account in 2016 compared to 2015?

MR. KOGAN:  Yeah, I mean, as a general point we've been losing money on this since the rates were set.  The thresholds are higher than what we've been experiencing, and that includes in 2016 we had revenues of about $14 million, so we're nowhere close to these kind of thresholds, so we're losing money on them.

MR. YAUCH:  And you don't expect to hit the threshold anytime --


MR. FRALICK:  No.

MR. YAUCH:  -- in the five -- the test period.  No, okay.

If you go to page 7, please.  This deals with your surplus base load SBG account.  So you said there was 81.5 million in there for 2015.  If you go to page 8, this is from your 2016 financials.  In that top paragraph it says:

"During 2016 and 2015 OPG lost 4.7 terawatt-hours and 3.2 terawatt-hours of hydroelectric generation due to SBG."

Is that the number for 2016, 4.7 terawatt-hours, or has it been updated?  Because I couldn't find it.

MR. FRALICK:  That's the number for OPG as a whole in 2016, so it's important to note that that captures both our regulated and unregulated hydroelectric assets.

MR. YAUCH:  Okay.  And it's the same thing.  The 3.2 terawatt-hours you have in 2015 here, that's less than the 2.8 that flows through that -- this variance account --


MR. FRALICK:  Right.  So the 2.8 would be the portion of the 3.2 that's associated with our prescribed facilities.

MR. YAUCH:  Okay.  I did some calculations and estimated that your surplus base load generation increased by about 47 percent in 2016 compared to 2015.  That's based on the numbers in the 2016 financials compared to what you have in your evidence.

MR. FRALICK:  3.2 to 4.7?

MR. YAUCH:  Yes.

MR. FRALICK:  Okay.

MR. YAUCH:  Anyways, either way, in 2016 there's going to be over $100 million in that account, the SBG account, if we take very basic assumptions here?

MR. FRALICK:  No, because the 4.7 terawatt-hours represents the whole company's total SBG.  So what's going to be booked into this account would be only the regulated component of that.

MR. YAUCH:  Would it be equivalent of 4.4 terawatt-hours less, the same way you did it -- here you have 3.2 in 2015 and only booked 2.8.  Is it the same 4.7, but you only booked 4. –

MR. FRALICK:  Not necessarily, because it depends on the dispatch of the units that were in an SBG situation at any given time, and that mix could shift between the regulated and the unregulated facilities.

MR. YAUCH:  Do you have the amount for 2016?  I guess that's the obvious question.

MR. KOGAN:  If you can let me check at the afternoon break?  It's published in our annual information forum, I think, but I can't find the page.

MR. YAUCH:  I guess my concern here is it looks as if we estimate the SBG account over the next five years, if it's similar to what you have in 2016, there's hundreds of millions of dollars that's going to be flowing to that account by the end in 2021.  And I guess your application doesn't account for those revenues, but ratepayers can expect that there is going to be a huge tab at the end of this application, correct?

MR. FRALICK:  I don't think I would make that conclusion.

MR. YAUCH:  You expect surplus base load generation conditions to change?

MR. FRALICK:  Yes.  As we know, we've entered into the period of refurbishment now, where we're starting to take out significant large chunks of generation.  So through that period, we do expect the amount of SBG will decline.  And if I recall correctly from some of the graphs I've seen from the IESO and others, SBG in fact will become quite negligible over the next decade through this refurbishment period.

2016 certainly was a high year, but it does not represent what the forecast is going forward.

MR. YAUCH:  I had a question on that.  In 2015, you also had Darlington; you had much lower production in 2015 because you had to do work on it, and still had surplus base load generation, correct?

MR. FRALICK:  In 2015, there was a vacuum building outage which affected the production there.   But it wasn't a whole unit out for a whole year.

MR. YAUCH:  That's less outage in that year than compared to taking Unit 2 out?

MR. FRALICK:  Much less.

MR. KOGAN:  Just with respect to when you're talking about SBG, I think you have to look more holistically at the facts that there will be other accounts, such as the water conditions account, the ancillary revenue accounts, and there have been and continue to be credits in those accounts.  So those could very well continue and go a long way to offsetting some of the debit.

So it's really hard to conclude what the net effect of the deferral and variance accounts would be, when all is said and done for hydroelectric in five years.

MR. YAUCH:  So the last two years, we shouldn't use that as sort of an assumption of what kind of money we're going to see flowing through that account over the next five years?

MR. KOGAN:  That's right.

MR. YAUCH:  Okay.  Going to page 9, please, I have a question on the midterm nuclear production variance account.


If Unit 2 comes in a year late, obviously that's going to change your production forecast in the back half of your application.  Does that difference flow through this account, or does it flow through the CRVA?  If it's related to Unit 2 coming in late, where does it get credited or debited either way?

MR. FRALICK:  The way that would work -- we made a production forecast associated with this application that covers five years, which includes Unit 2 coming into service in 2020.

If, through the course of time, that changes, if we know it's going to be late at the time of the proposed midterm review, we would reflect the latest information that we have in our updated production forecast that we would propose to establish through this midterm variance account at that time.

MR. YAUCH:  If I heard you correctly yesterday, I think it was with AMPCO, if your assumption of 2019 also turns out to be erroneous and comes in a bit later, you own the cost of that delay, OPG?

MR. FRALICK:  So in general terms, OPG has not had a production forecast greater than two years, and it's a very significant risk item for us and significant contributor to our under achievement of our ROE.

So as a compromise, we've proposed a midterm review which sees us setting our forecast for greater than we have in the past, so 30 months versus 24, and then redoing that at the mid point.

So we do accept the forecast risk for the first 30 months, and then for the second 30 months.

MR. YAUCH:  Okay.  I'm going to move on to page 12 of my compendium, please.  I think it's in column C; these are your total corporate cost for the whole company.  And in 2015, the actuals were 551.9 million, correct?

MR. MAUTI:  That's correct.

MR. YAUCH:  And then if we go to page 13, the nuclear portion of it for 2015 is 418 million?

MR. MAUTI:  That's correct.

MR. YAUCH:  Now if we go to the next page, page 14, this is from your benchmarking study.  So is it says in 2014, your corporate costs, according to the benchmarking study, were 318 million.  And if we go back to page 12, in 2014 the costs were 549 million.  So the benchmarking costs only cover about, I think, 57 percent of your corporate costs, correct?  Or am I missing something in the difference in those numbers?

MR. MAUTI:  The task was to benchmark the corporate costs to regulated operations, so it's probably should be a subset of the 2014 costs of 549.

MR. YAUCH:  Most of that is regulated, correct?  The 549, or is there --


MR. MAUTI:  Most of it.  But if you're trying to get into percentages, a portion of that would be for unregulated.  And then if you look at your page 13, that's the portion that relates to the nuclear side of the business, not the hydroelectric regulated side of the business.

And then when you get to page 14, we talked about certain costs that were excluded as part of the benchmark, and this becomes the subset that is actually is used as part of benchmarking.

MR. YAUCH:  There's a large chunk of the company's corporate cost that weren't actually captured in the benchmarking study?

MR. MAUTI:  A large portion of the corporate cost that were not able to be benchmarked through Hackett as part of their benchmarking process.

MR. YAUCH:  And I note other parts of this hearing, we always hear that Darlington is what's shifting everything, and you don't include Darlington costs in your corporate benchmarking, this study, correct?

MR. MAUTI:  We don't include direct project costs that are Darlington's that are capitalized,  So no, those costs
-- we got into it a little bit yesterday, that there could be certain corporate functional kind of costs that are directly in the Darlington organization.  They probably have a small supply chain, a small IT sort of organization providing direct support to refurbishment.

So that would not be included here, because it's a direct cost to support Darlington and not a corporate kind of support cost for the company.

MR. YAUCH:  Would the Darlington cost account for a big chunk of the exclusion that's not in the benchmarking study?

MR. MAUTI:  No, because again, these are the costs that are OM&A costs for those functions across the company. They would similarly not have included the Darlington costs.

MR. YAUCH:  Okay.  If we go to page 15 -- please scroll down a little bit.  In here, you basically say you apply your stretch factor.  It's in line 21-22 and goes to the base OM&A, but also your corporate support services.

So corporate service are also part of the stretch factor, correct?

MR. MAUTI:  Correct.  Those nuclear portions that I believe were on table 3 that you had on page 13, those would be the nuclear portions of base OM&A.

MR. YAUCH:  Right.  So actually if we can go to page 13, between 2015 and 2016, there is a 23-million-dollar increase in corporate costs.  But your stretch factor of .3 percent, if you apply to 2017 it amounts to $1.3 million -- give or take, and subject to check.

So I'm seeing a massive increase in corporate cost, but your stretch factor is lowering it a minuscule amount. So can you not find any other efficiencies in the corporate side of your business, or just 1.3 after you've raised them over $23 million? 



MR. MAUTI:  I guess the implication is that through the '17 to '21 period that is part of this application the support costs stay relatively flat and are lower than the rate of inflation over that five-year period, so we're taking .3 percent stretch factor on costs that are relatively constant over the five-year test period.

MR. YAUCH:  But after you bump them up significantly in 2016 then you say we can find a stretch factor after they've increased by 23 million.  I mean, that's what's happening here, right?

MR. FRALICK:  Well, I wouldn't say it's fair to characterize the cost increases as we've bumped them up in order to be able to achieve a stretch factor reduction.

MR. YAUCH:  I'm not -- I don't mean to say that.  I just -- that's the way it looks, but I'm not saying that's what you did, sorry.

MR. FRALICK:  Well, I guess to answer that fully we would have to get into some of the relev -- drivers within each of these cost categories to explain why they are, and I don't know if we're able to give you that level of detail sitting here now.

MR. YAUCH:  Okay.  I can move on.  I just have one more question, actually.

MR. MAUTI:  Well, if you would like to I can go into some of those sort of drivers as what's happening between 2015 and 2016.  The one that's probably the single biggest issue is the fact that we're now moving lease costs for our 700 University building we talked about, that eight-million-dollar sort of increase.  That's probably the single largest driver between 2015-2016.  There are other parts of our programs, some cyber-security issues, that we're sort of dealing with that cause an increase.

The supply chain program is part of the nuclear initiatives to improve parts availability and security, are having some additional costs as well that are part of that nuclear initiative that I believe was discussed in a previous panel as well.

So there are a few things that are specifically driving those increases from 2015 to 2016, and then as mentioned it's a fairly flat trajectory in terms of overall corporate costs that are lower than inflation over the five-year test period.

MR. YAUCH:  Thank you.  I want -- I gave an exhibit reference before I came on.  It's not part of my compendium.  It's Exhibit F4, tab 4, schedule 1, table 3.  So I just want one -- line 5, performance incentives.  So you're including in rate base performance incentives related to nuclear business over the next five years, correct?

MR. KOGAN:  Not in rate base, in revenue requirement.

MR. YAUCH:  Revenue requirement, sorry.  Is that reasonable from a ratepayer point of view to approve the revenue requirement for performance incentives before we actually know if you've hit any of your targets?  We propose in the Hydro One case that you run these through a deferral account and we see afterwards whether or not you actually achieve the incentives that you've laid out.  Wouldn't that be a more reasonable way to deal with performance incentives, rather than approving them upfront?

MR. MAUTI:  Our understanding of this not being in compensation, but the underpinning of performance incentives, which is part of the employment contracts for management group, are based on achieving in effect targeted results over the business plan period.

That business plan underpins the application, so I think it would be only appropriate to show those performance incentives achieving that target level of production and that target level of production and costs and execution of the plan again underpins the application, so I think it would be appropriate to assume a target performance for those.

MR. YAUCH:  Well, you get the money upfront before we know if anything has actually been achieved?  If, for example, Darlington on the nuclear side doesn't turn out the way you say, you've got all the performance incentives already before you've actually completed the job, right?  I guess -- what am I not seeing here?

MR. FRALICK:  So the opposite is also true.  So if management exceeds target in some years, it's possible that we can come in higher than this.  But over time, you know, this is a standard part of management's compensation, and while each individual's performance is based on their individual performance per year and that amount of payout would certainly vary year over year, on balance what we would expect to see is that, you know, certainly over a five-year period that plan would be hit.

MR. YAUCH:  Would you propose returning that money if you don't hit your incentives?  Is that also --


MR. FRALICK:  We're not proposing to come in and ask for more if we go in over.

MR. YAUCH:  Okay.

MR. KOGAN:  I think you just also have to look at the materiality as one of the criteria for deferral and variance accounts, and kind of glancing across the line at a high level, you know, those numbers don't seem to vary that vastly on an annual basis, just kind of big-picture, and I know there's a lot of discussion often about how if we have too many deferral and variance accounts people make that suggestion, so particularly keeping that in mind.  You know, yesterday was CNSC fitness for duty.  Today it's a performance incentive.  So sort of I think we would also look at it from that perspective, and these numbers in that regard are not necessarily that significant from a D&V account perspective.

MR. YAUCH:  Right.  We just hear a lot about compensation costs, particularly in the electricity sector, and from a public point of view you're already baking in performance incentives for five years out.  So I don't -- the numbers aren't material to OPG, but from a public point of view they don't look very good, I would say.

MR. KOGAN:  But at the end of the day the public pays for electricity that's derived through rates, so really at the end of the day it's the materiality of any of the numbers we discussed in relation to electricity prices, I guess is the way I was thinking about it.

MR. YAUCH:  Okay.  Now --


MS. FRY:  Do these figures -- sorry, do these figures assume that all employees achieve all performance targets or is there some kind of an average or...

MR. MAUTI:  I think what we do is, there's a -- I think we've talked about the scorecards and you've seen the scorecards in the past for management group.  They -- the balanced scorecard has maybe ten, 15 different items on.  So what we assume in business planning is that you achieve the target for all of them so it doesn't achieve exceeding target, doesn't assume missing target, it assumes achieving the business-plan target.

MS. FRY:  And assumes that everybody achieves the target?

MR. MAUTI:  It assumes that on average the company achieves those ten things or whatever the number of areas are all on target, and now -- if that happens then you assume the number of people that are in management group that are eligible for this program would be distributed based on that total.

How that gets distributed amongst all the management group may vary from year to year, so some may get more, some may get less, but this is the overall average for that money for performance incentives at a company level.

MR. KOGAN:  I think on the compensation panel we discussed how the overall corporate score sets the pot, so this assumes that this pot is set, as Mr. Mauti explained, right at the business plan.  And then within that there's of course going to be some variability of individual performance, but it will be sort of capped at that overall pot.

MS. FRY:  Okay.  Thanks.

MR. YAUCH:  These numbers are based on a best-case scenario.  This is you hitting everything, and then how you distribute amongst your employees is up to, obviously, you guys, but this is assuming this is all the money you have and you're going to ask for it now upfront and then you'll decide how to distribute it amongst your employees.

MR. MAUTI:  No, I would say that this assumes achieving the target, there is a potential for a higher score should we exceed all of our targets.  That would be the maximum possible, so when you use the word "maximum possible" this assumes achieving what the business plan sets out, and again, that should be synchronized to what our application is, which is the business plan amounts that are setting the costs that are being asked for recovery.

MR. YAUCH:  Okay.  Actually one last question on this.

On line 4 the nuclear insurance, it goes up over the test period.  I'm assuming that's related to the new liability threshold that OPG faced, all nuclear reactors face, in Canada?  That's the increase?

MR. KOGAN:  That's correct.

MR. MAUTI:  That's correct.

MR. YAUCH:  Okay.  Those are my questions.

MS. LONG:  Thank you.

Mr. Millar.


Cross-Examination by Mr. Millar:

MR. MILLAR:  Thank you, Madam Chair, and good afternoon, panel.  My name is Michael Millar.  I'm counsel for Board Staff.

Madam Chair, we provided a compendium, which I propose to mark at K21.3, and I believe the witness panel should have it, and the Board Panel.
EXHIBIT NO. K21.3:  BOARD STAFF CROSS-EXAMINATION COMPENDIUM FOR OPG PANEL 5B.

MR. MILLAR:  Before we get there, just quickly while we still have Mr. Yauch's compendium, K21.2, could I ask that we go to page 19 of that compendium.

MR. MAUTI:  We only have 18 pages on it, sorry.

MR. MILLAR:  Ah.  I'm sorry, it's page 13.  It's marked at the top as page 19.  It's from F3, tab 1, Schedule 1.  Yes, that's it, thank you.

Just a quick question.  We see the 2016 numbers at line D marked as budget.  Are the actual numbers on the record yet in this proceeding or do you have the actuals?

MR. KOGAN:  The actual amount for the total is on record, I believe, by virtue of J14.2.

MR. MILLAR:  You don't know it offhand, do you?

MR. KOGAN:  We can pull up J 14.2.  I don't have it on me.

MR. MILLAR:  That's fine.


MS. LONG:  The total number, but not the breakdown?

MR. KOGAN:  That's right.

MR. MILLAR:  Thank you.  I have a grab bag of accounting issues with which we can ease our way into the weekend, and a few carryovers from previous panels where the questions were punted.

I'm going to start with one of those, a very simple one to get us started.  With respect to the DRP, you are making various additions to rate base throughout the test period.  If we wanted to convert that into a revenue requirement impact, is it okay to use the 10 percent rule of thumb as a ballpark figure?  Does that apply with the DRP as well, or would there be a different number that we should use?  Again, I'm not going to tie you to a specific number, but just ballpark.


MR. KOGAN:  Certainly.  What we did is we actually looked at some of the interrogatories that had been requested as to various scenarios by adjusting contingency levels.


So kind of looking at what a change in those dollars does in those interrogatories, it looks like it's about 8 cents on the dollar in 2020, because the unit comes in partway through the year.  And then it's about 10 cents on the dollar by 2021.

MR. MILLAR:  Okay.  Thank you very much.  Quickly on cost of capital, your ROE for 2017, if I recall, is proposed to be 8.78 percent; is that correct?

MS. ARSENEAU:  Yes, for nuclear.

MR. MILLAR:  Yes, for nuclear.  And obviously it's your aim to recover your entire ROE over the course of the test period; that's what you'll aim to do?


MS. ARSENEAU:  Of course.

MR. MILLAR:  And indeed, you could actually, since it's a five-year term, you could over earn in some years; that's a possibility?


MS. ARSENEAU:  Yes.

MR. MILLAR:  You could under earn as well, but you could over earn?

MS. ARSENEAU:  Yes.

MR. MILLAR:  Okay.  Speaking about the DRP, to the extent that there is overspend on any of the DRP items that are relevant for the test period, those amounts will be recorded in the CRVA, is that correct?

MS. ARSENEAU:  Yes, variances will be recorded.


MR. MILLAR:  Variances, that's right.  And presumably at some point, OPG will come forward and seek to clear those amounts.


MS. ARSENEAU:  Yes.

MR. MILLAR:  If they're fund to be reasonable by the Board, the regulation stipulates you will recover those amounts, is that correct?

MS. ARSENEAU:  Yes, correct.

MR. MILLAR:  Would it be possible we could find ourselves in situation in which both the DRP goes materially over budget, and OPG also over earns?  That could happen, couldn't it?

MR. FRALICK:  We're just having difficulty trying to come up with an example, working through the math here.

If there's a specific circumstance that you're contemplating, that might help us with providing an answer here.

MR. MILLAR:  I recognize you don't really over earn on any of your DRP related capital, because assuming the Board finds it all prudent in the end, it's all trued-up for actual.  So you would get your actual ROE on that, that's correct, in the CRVA?

MR. FRALICK:  In 2020, if the DRP cost five billion and then we seek the recovery of the extra 200 million through the CRVA, and everything else being achieved, what -- are we being in that --


MR. MILLAR:  You're making it perhaps more complicated than I intended.  What I'm suggesting is on DRP, the CRVA will true-up all the amounts.  It's subject to a prudence review by the Board, of course.  But in the, end whatever you put in the account if it's cleared, that would include the ROE that you're seeking.  So you would neither over recover nor under recover on your ROE for the DRP.


MR. FRALICK:  Right.


MR. MILLAR:  But the DRP is not your entire business. It's possible that at the same time, you could over earn on the rest of your nuclear business, is that right?


So you could have a situation where you over earn overall on your nuclear business, but you also have material over spend on the DRP?  That's a possibility.  It might not be likely, but that could happen?

MR. FRALICK:  Yes, subject to the prudence review of the CRVA and assuming those costs were prudently incurred, then if we had over performed relative to plan everywhere else and we're earning a higher ROE, yes.

MR. MILLAR:  Does that sound like a just result to you, that if there was a material over spend, you could, at least in theory, over earn on your ROE?

MR. FRALICK:  Yes, with the presumption that the costs that drove the over spend were prudently incurred.  If they were not prudently incurred, then I could see that the Board would see to disallow those costs, which would have a corresponding impact on our ROE.


But if they're prudently incurred and appropriately managed, then I don't see how one would correlate to the other.


MR. MILLAR:  At minimum, you would have a PR problem then, would you not?

MR. FRALICK:  If our Darlington Refurbishment Program costs in 2020 exceed the 4.8 billion, I would expect that we would be subject to some external scrutiny.

MR. KOGAN:  By way of context, we have never over earned.  We have under earned since we became regulated.


MR. MILLAR:  But you aim to at least hit your target ROE, and if all the stars line up, you could over earn.  It could happen.


MR. KOGAN:  It could happen, certainly.

MR. MILLAR:  Let me move on.  I have some quick questions with respect to the CRVA.  Much of this has been covered, but first of all, I want to make sure we understand exactly which projects OPG views as being CRVA eligible, and I'm talking now about nuclear projects and non-DRP projects.

So through our review of the materials, what we think -- and correct me, if I don't have this right -- is that there are only three nuclear projects that are not related to the DRP that qualify for CRVA treatment.  And I'll tell you what we think those are.  It's the non-capital cost for the Pickering extended operations project, including the fuel channel life assurance project, two, the non-capital fuel channel life extension project, including ongoing costs.  And finally, the non-capital fuel channel life management project.


Those were the ones we saw that at least OPG felt were CRVA eligible, other than the DRP projects.


That's a long question, but am I right about that?  Or are there other projects?


MS. ARSENEAU:  I think if you refer to the updated version of 4.1 Staff 24, you'll see that there's also a Darlington spacer retriever tooling project.


MR. MILLAR:  Could you repeat that?


MS. ARSENEAU:  The Darlington spacer retriever tooling project, and you'll find that on line 26 of 4.1, Staff 24.

MR. MILLAR:  Do you have the amount of that project?  If you don't, I can look it up.


MR. KOGAN:  It's on the next page.  I think there are  some details in the table.

MR. MILLAR:  There it is.  So 6.2 million and then 6.4 in total?

MS. ARSENEAU:  That's correct.

MR. MILLAR:  Thank you.

MR. KOGAN:  The capital piece.  There is a non-capital piece up above.

MR. MILLAR:  I see.  Which is 13 million?

MR. FRALICK:  In total.


MR. MAUTI:  Correct.

MR. MILLAR:  Okay.  Could we go to page 46 of the Staff compendium?  Actually, I'm not sure if that spacer project is here or not, but can you confirm that all the projects on this list are not CRVA eligible?  If it's easier, you can do that as an undertaking.  But if we can do it now, that's probably easier.

MR. FRALICK:  At a quick scan, I believe so.  But it might be best if we confirmed.

MR. MILLAR:  Why don't you take an undertaking and you can let me know.  So that's J21.4, and it's to confirm whether any of the projects on tab 1, schedule 3, attachment 1, the summary index, whether any of those are CRVA-eligible in OPG's view.  Okay.  Thank you.
UNDERTAKING NO. J21.4:  TO CONFIRM WHETHER ANY OF THE PROJECTS LISTED AT D2-1-3 ATTACHMENT 1 TABLE ARE CRVA ELIGIBLE

Still on the CRVA, could we please pull up Exhibit H1, tab 1, schedule 2, table 2.  I don't have that in our compendium, but that's the document that we've been referring to throughout the day.  Yes, that's it, thank you.

And I just want to make sure I understand how this table was prepared.  So first of all, if we -- lines 1 through 9, those are taken directly from EB-2013-0321; is that correct?

MS. ARSENEAU:  Yes.

MR. MILLAR:  Okay.  And line 2, which we see is gross plant in-service additions, that is the sum of lines 11 and lines 20, the CRVA-eligible projects and the sustaining projects?

MS. ARSENEAU:  Sorry, can you just repeat the --


MR. MILLAR:  Yes, I'm sorry --


MS. ARSENEAU:  -- line references again?

MR. MILLAR:  -- line 2, which just for 2014 is 77.5 --


MS. ARSENEAU:  Oh, yes, sorry, I see what you're saying.  Yes, that's --


MR. MILLAR:  It's the sum of 11 and 20 --


MS. ARSENEAU:  Yes.

MR. MILLAR:  -- lines 11 and 20.  And the reason for that is because line 2 is the total, and then what you've done is you've broken that total down into CRVA-eligible projects and other sustaining projects.  That's how --


MS. ARSENEAU:  Yes, correct.

MR. MILLAR:  -- that number is derived.

How did you actually prepare that split?  I assume that wasn't part of the record in EB-2013-0321?  So how did you derive those numbers?

MS. ARSENEAU:  Sorry for the wait.

MR. MILLAR:  Yes.

MS. ARSENEAU:  So those would be equal to the projects identified in our D schedules in EB-2013, but there would be a 10 percent disallowance applied per the decision and order to those amounts.

MR. MILLAR:  Okay.  Maybe you could walk me through that in a bit more detail.  Did you look at the individual projects and decide which ones would be CRVA-eligible?

MS. ARSENEAU:  So the CRVA-eligible projects, I think you'll find, are in H1, tab 1, schedule 1, table 7 of this proceeding.

MR. MILLAR:  And that would have the 5.3 million number for 2014?

MS. ARSENEAU:  It wouldn't have the 5.3 number, but it would show you which projects that 5.3 pertains to.

MR. MILLAR:  Okay.  So all you did was took those projects and totalled up the numbers and then you applied a 10 percent discount?  Did I understand that?

MS. ARSENEAU:  I believe -- I'll take that, if you don't mind, subject to check, but I'm --


MR. MILLAR:  Sure.  No, as long as that's essentially how you did it, I think we can understand that.

I'll tell you why I'm asking.  It's because if you look at for 2014 only 7 percent of the total additions were CRVA-eligible.  That's 5.3 million of 77.5.  And then you see for 2015 it's about 24 percent by my math, give or take, 32 million out of 136.

But you'll probably recall from SEC 95, which I don't think we have to pull up, but when you looked at the numbers over the test period, it was closer to a third.  It was something like 35 percent, I think, so we were curious as to why the numbers seemed to be significantly lower in 2014 and 2015 as opposed to the test period?

MR. FRALICK:  I think if you look at SEC 95 you'll see that the bulk of those in-service additions that contribute to the CRVA entries are in the first couple years, so by nature of these projects they are larger, discrete projects that happened to come into service in a certain year.  They are by their nature not smaller projects, they're spread evenly across time, and you would see that through the trend in SEC 95.

MR. MILLAR:  Okay.  So there is no mystery here.  That just happened to be the years when more of these projects came into service?

MR. FRALICK:  Yes.

MR. MILLAR:  Okay.  Let's carry on.  Can we flip to page 6 of the Staff compendium, please.  Just quickly, about insurance, there have been a few questions sprinkled here and there throughout the proceeding about insurance, and I don't think I'll take very long here.  But if I look at lines 3 and 4 on this table, those -- are these your insurance costs over the test period?

MR. MAUTI:  Yes, these would be the OPG-wide insurance deals with different coverages for liability and business interruption across the company.  And the nuclear insurance is specific to the Nuclear Liability Control Act changes that were enacted in 2017.

MR. MILLAR:  Okay.  So thank you for that.  I was going to ask you just at a very high level what do these cover?  I think you've started that.  So the OPG-wide insurance -- sorry, you provided some categories of things that covered you for?  One of them was business interruption, I heard.

MR. MAUTI:  Yes, things would be events that might happen that might cause an interruption on your business, whether it's an employee or a contractor, an action that they take, say negligence from a contractor, an accident happens that causes one of your units to go down or be derated or something like that, that would be typical business interruption insurance that we would have different levels of protection at depending on the cause of the events.

MR. MILLAR:  Just while we're on that one, would any of that relate to cost overruns at DRP or delays with the refurbishment?

MR. MAUTI:  No, I think there was a specific reference during the DRP panel about the insurance that was actually embedded within the DRP program, part of that cost estimate.  That would be separate insurance that was taken out through, I believe, a variety of -- 15 different insurance carriers that would cover a variety of kinds of coverage, but I know the transcript reference was talking about a delayed start-up --


MR. MILLAR:  Yes.

MR. MAUTI:  -- insurance.  That would be in effect something that would happen as a result of a specific incident that would happen that because of that incident would delay, say, the start-up of a unit.  It would not cover in general a delay in being able to return a unit to service through a variety of just work practices and events that unfold.  It would have to be as a result of a specific event.

So use it as an example, the forklift runs into something in a turbine hall that otherwise the unit would have been able to come back and there was a specific event that would cause that delay in order to fix that event, if it's a delayed start-up because of that, that would be covered, so it would have to be a specific peril or event that would happen as a result.

MR. MILLAR:  Okay.  So depending on the nature of the incident you may or may not have insurance coverage for a delayed restart?  It would depend on what caused it?

MR. MAUTI:  Depend on what caused it and then obviously insurance companies would get very interested in terms of what that event was before they would pay out, obviously.

MR. MILLAR:  No doubt.  But here is a possibility that some delays could be covered by insurance.

MR. MAUTI:  But again, delays that are very specific to an event happening and an unforeseen event.  Think of it as an accident or something that was not foreseen that would cause it to happen.

MR. MILLAR:  No, no, I understand.  Let's imagine something like that did happen.  How would those insurance -- would those insurance monies be considered as part of the CRVA entries?  What happens to that money --


MR. KOGAN:  I don't think we've thought through the -- what the accounting or that financial or regulatory would be for such a situation, as Mr. Mauti has mentioned, sounds like these are not necessarily the most high likelihood kind of events that would occur or cause a delay.  But, no, we haven't turned our mind to it, Mr. Millar.

MR. MILLAR:  Well, let me just follow -- I appreciate that this is not just for any old reason, but as you say, if a forklift driver leaves his forklift in the reactor before you restart -- it happens -- and, you know, for whatever reason the insurance decides, yes, you are covered for that, here is your $50 million to cover the delay of the week to get the poor fellow's forklift back, what would happen to that $50 million?  And Mr. Kogan, are you saying you just haven't thought of that?

MR. KOGAN:  I haven't thought of it.  I mean, you know, you're putting me on the spot.  What we'd have to consider is, I assume that some of that insurance coverage if we got it would have to do with compensating us for lost production and revenue, and as you know, we don't record variances in production in relation to Darlington coming in sooner earlier into CRVA, so, you know, those kinds of things would have to be considered as well into that.  So that's just what comes to mind sitting here.

MR. MILLAR:  Okay.  And fair enough.  We didn't ask an interrogatory about this.  It sort of arose through the -- but what I want to get at is, I mean, your ratepayers are paying for your insurance costs.  That's part of your revenue requirement.  Correct?

MR. MAUTI:  Yes, yes, these insurance amounts are included as part of the costs of the Darlington refurbishment program, yes.

MR. MILLAR:  To the extent there are payouts that would relate to something that went into CRVA, are you able to say whether or not you would use that as a credit against the CRVA amounts?

If you don't know or want to think about it, that's fine.  But it seems to me that’s something to consider.

MR. KOGAN:  I don't think we know, sitting here today. But again, we just have to consider that compensation that is being provided through that insurance or other insurance, if it's compensating us for the fact that we would otherwise produce something but we haven't produced it, that is something that is effectively keeping us --trying to keep us whole, relative to what the ratepayers would have paid us had we produced.

MR. MILLAR:  I understand that.  That's why I'm asking about the CRVA.

MR. KOGAN:  I'm sure there would be considerations as to maybe some of it shouldn't go into CRVA.  I don't know.

MR. MILLAR:  Maybe that's something that’s considered when we clear the CRVA, because we don't know -- okay.

With respect to your insurance needs, is that something you assess in-house, or do you get an insurance broker or something like that to assist you with what your needs might be?

MR. MAUTI:  We do have people that have insurance background within our treasury function, whose job it is to assess risks around the organization.

I can't speak definitively as to whether they include the use of third parties to help assess those risks and determine insurance coverages.  But we have a group within OPG that actually does deal with that, or an individual that has an insurance background to make that decision.

MR. MILLAR:  Thank you.  Could we go to page 7 of the compendium, please?  Another quick one here.  This is about commercial operations and environment and if we start at line 6, it states:
"OPG recently restructured commercial operations and environment by transferring commercial contracts, environment regulatory affairs, electricity sales, and trading and integrated revenue planning groups to different divisions within the organization.  Despite changes in organizational structure and reporting relationships, OPG continues to present costs as if commercial operations and environment remained intact."

And if you skip a sentence to line 14:
"The changes in organizational structure do not have a material impact on the cost forecasts for the bridge year and test period, and do not have an impact on the cost allocation methodology."

First, when was this change, this restructuring completed?

MR. MAUTI:  I think this one was at the start of 2016.

MR. MILLAR:  Would it have been after you prepared your application, or before?

MR. MAUTI:  It was happening probably during the first four to five months of 2016.  The decision to dissolve this as a specific direct report to the president was made first, and then in a span of several months, decisions on where each of the sub groups within that would be redistributed and reallocated probably took the better part of three to four months, which was right during the time we were preparing the application.

The application was based on the 2016 to 18 business plan, which still had commercial operations and environment as one group.  So given the fact we were just taking those component pieces and moving them under different executives within the company, we felt it was easiest just to provide a continuity and prepare it the way we did.

MR. MILLAR:  I understand why you presented it the way you did.  And I understand that apparently the cost impacts are not material.  But to the extent they exist, are they actually reflected in the application, or it was just too small an amount to bother updating the application for?

MR. MAUTI:  Probably the single largest change was removal of one of the executives in the company, and basically all the pieces within that organization got moved around.

There was a discussion previously, I think on the compensation panel, about some of the reorganizations that have happened with different executives.  The main thrust of it is the work in the units remained; it was just regrouping and elimination of an executive position.

So in grand totality, it was one executive.  We took that into account as part of the 2017 to 19 business plan, when we did the update of the deltas, and that's why the change is not material.

MR. MILLAR:  Okay.  It's not enough money to worry about, I think.

Can we turn to page 11 of the compendium?  I had some questions about Hackett and they've very largely been covered, but a couple of follow-ups.  You will recall this page; you discussed it with Ms. Blanchard, and perhaps Mr. Shepherd, as well.  But you’ll be familiar with this page.

First some questions about end user equivalents that we see under the normalization of benchmark data, the third bullet point there.  We see you had 12,267 end use equivalents in 2014.

MR. MAUTI:  Yes, that's correct.

MR. MILLAR:  And I think Ms. Blanchard covered this with you, but that's in fact higher than your number of FTEs for 2014?

MR. MAUTI:  Higher than the number of our regular employees in 2014.

MR. MILLAR:  Yes.  And the reason for that is because they're contractors and several of them count as end user equivalents, and there was a lengthy discussion of whether that meant they had a phone.  But what I took it to mean is they had an LAN access number.

MR. MAUTI:  Correct.  They're set up to use different application answer components within our system as part of their need to be able to do work in our facilities.

MR. MILLAR:  Right.  One of the things we were trying to get at with a previous panel related to, as I expressed it, the number of humans who actually work at OPG.

Would using a LAN number be a reasonable proxy as to how you could get to the contractor numbers?  Like for example, you couldn't have more contractors than you had LAN numbers for contractors, could you?

There might be contractors that don't have an LAN number, but no contractor that has two LAN numbers?

MR. MAUTI:  There wouldn't be one that has two, but I think the distinction about when to give a contractor a LAN ID to be able to use our systems, I don't think you can necessarily suggest that's the number of humans there.

There could be contractors coming on site that would have no need to access any of our systems, because they're under the direction of somebody else that would just be doing work, and they would have no need to be able to have access to a system to figure out any part of our -- wouldn’t need to have an ID for email.  They wouldn’t need to have an ID to be able get into any one of our systems, and they’d just be executing work.  So that might be a physical human that doesn't have a LAN ID.

MR. MILLAR:  That's right, but it wouldn't be less than the LAN ID number?

MR. MAUTI:  Since the LAN ID is assigned to an individual and a human being, then yes.

MR. MILLAR:  I thought about this more.  It actually occurred when you give a LAN -- a LAN wouldn't necessarily be equivalent to an FTE, because you could have a contractor who may be only be on the site for a short period of time, is that fair?

I want to be fair to OPG as to how you would think this through.  I'm assuming you couldn't take a LAN number and make it directly equivalent to an FTE?

MR. MAUTI:  Correct.  A LAN can't be associated as an FTE, as you’ve said.  They could be people for a small period of time within the organization.

MR. MILLAR:  Right.  They could be there a whole year, but they might only be there two weeks.  We don't know.

MR. MAUTI:  Whatever the need -- determining them needing a LAN ID would be the rationale for providing it to them.

MR. MILLAR:  Could we flip to page 9, please?  I have just some quick follow-ups on the ECS, and this is just to remind us where we were in your discussions with Ms. Blanchard.

If you look at figure 1 on the table, line 4, ECS cost as a percentage of revenue, and OPG at 2014 was at 2.75 percent whereas the peer group was 1.7 percent.  You will recall that discussion with Ms. Blanchard?

MR. MAUTI:  Yes, I do.

MR. MILLAR:  And you will also recall -- we don’t have to turn this up, but she took you to the quartile analysis and that showed that OPG was actually below the bottom of the fourth quartile; is that correct?

MR. MAUTI:  Yee, we had that discussion, as well as a discussion of some of the drivers and rationale and the reasons why.

MR. MILLAR:  That’s right.  You went over the unionized environment, the real estate issue, the nuclear issue, and I won't repeat that with you.  You’ve already discussed that with Ms. Blanchard.  You're quite correct, you did provide some of the drivers for that.

Could we go to page 13, please?  And I think we had a look at this table as well, but it was a further breakdown of the ECS cost and how you relate it to your peers and it’s titled at the top:

"OPG ECS has opportunities to peer, especially in areas of risk management and EHS, procurement, and real estate."

And if you look underneath, for all the categories they identified you are higher than the benchmark on everything except legal; is that correct?  You got Mr. Smith for a bargain, although I assume he is not there.  That would be your in-house legal costs, I assume?

MR. MAUTI:  No, these would be total legal costs that would be --


MR. MILLAR:  I don't want to put ideas into Mr. Smith's head about seeking -- he is worth every penny.

Let's turn to page 14 and 15, please.  I guess you can go straight to 15.  This is a Board Staff interrogatory that asks about your ECS costs over the test period, and you give us a forecast from 2017 to 2021, and if you will recall that the costs as a percentage of revenue in 2014 were 2.75 percent.  Again, I think you touched on this with Ms. Blanchard.  You over that -- you're forecasting to be over that in four of the five test period years?

MR. MAUTI:  And the ratio is higher than 2.74, I believe you mentioned, yes, in four of those five years.

MR. MILLAR:  I think there is an interrogatory about this, but we did some back-of-the-envelope calculations as to what your costs -- how much lower your costs would be if you were at benchmark for 2014, and we came up with about $81 million, and that was simply multiply -- taking the delta between 1.07 percent of your 2014 revenues versus 2.75 percent.  Subject to check, am I in the ballpark there?

MR. MAUTI:  I believe we do have an undertaking that asks us to do that calculation for ECS and finance, and to be complete we will do one for all four of the major benchmark areas that we do have here to provide that calculation for you.

MR. MILLAR:  Okay.  But conceptually am I right and that's how the calculation would be done?  It's reflected as a percentage of revenue, so all we did was took your 2014 revenue, which I think is shown on page 11, and we just multiplied it by 2.75 percent and then by 1.07 percent, and we took the delta between those.  I mean, conceptually is that how the math would work?

MR. MAUTI:  Again, conceptually, you should do that for all of the components --


MR. MILLAR:  That's fine.

MR. MAUTI:  -- of corporate costs, which we will be doing there --


MR. MILLAR:  Okay.  So --


MR. MAUTI:  Yes.

MR. MILLAR:  -- we'll see that when the interrogatory comes in, but that's kind of how the math works, and you don't have to take the 81 million dollars, but that's the number we came up with.

So just to end on this Hackett business --


MR. MAUTI:  Sorry, just to clarify, we'll be doing this for the nuclear portion of the allocated corporate costs here, so we'll do this calculation for nuclear as it was done for Staff 169 as well.

MR. MILLAR:  Okay.  Thank you.  And I guess we'll see what those total numbers work out to when the interrogatory comes in, but it seems to me under ECS you're not just at fourth quartile, you're kind of below the fourth quartile.  As I say, we'll see how the overall numbers work out, but should ratepayers be expected to pay for fourth-quartile performance?

MR. MAUTI:  Again, with the ECS category, while I had a short discussion with Ms. Grice yesterday on this, I think there are specific drivers, especially on those categories that had been flagged by Hackett, environment, and health and safety specifically.  I don't think you can discount the fact that operating a nuclear generating fleet and the level of reporting and requirements for nuclear safety, public safety, and environmental impacts, the testing that we do and the monitoring that we do, not only as a result of CNSC regulations, but just to be able to operate in the communities that we do and to gain their trust and the public trust, we do have to expend an amount for those functions, and that is the largest of the ECS categories that was listed on that table that you had on page 13, I believe it was.

MR. MILLAR:  Yes.

MR. MAUTI:  So being the largest cost category, that one very specifically, I think if I was a ratepayer I would want to make sure that OPG was properly protecting the environment and ensuring public and employee safety, so I think there has to be an understanding and appreciation for a nuclear generating fleet that some of these things will result necessarily in higher than the median for the group of companies that we look at, especially since only five of the 19 are nuclear generators, and as I mentioned yesterday, of those five I don't believe any are as highly dependent and focused on nuclear as OPG would be in terms of its overall corporate structure, so I think that would have to be taken into account.

MR. MILLAR:  So is this your -- OPG's view or is this Hackett's view?  I didn't read that in Hackett's report.  So if it's your view that's fine, but I just want to make sure we're talking -- this is OPG's view, not something that Hackett has expressed in the report?

MR. MAUTI:  Well, we asked Hackett to do benchmarking and -- for a comparator group of companies, and again, I think as mentioned before, when you do benchmarking it's not necessarily to say, calculate an amount that you feel we're over by.  It says, calculate where we are in comparison to those organizations.

I think as operators of a nuclear company we would understand, and I'm not suggesting this is as an excuse.  I think it's just an understanding of the costs that would have to be expended in some of these areas to be nuclear.

So, you know, no, did Hackett specifically provide that as an analysis or assessment for us, no.  They just flagged where we were in relation to these, and it's part of our job as management is to understand these and to take actions or at least understand where and why we are in some of the results.

MR. MILLAR:  Do you think Hackett picked the wrong peer group?

MR. MAUTI:  Myself, I'm not personally familiar with how exactly they came up with the peer group.  I know they did include some nuclear companies.  I don't think they wanted to make it a nuclear-centric thing.  They wanted to look at companies, and I believe that page that you had -- or there is a page that talks about how the comparator companies were picked as part of Hackett.

MR. MILLAR:  It may not be in my compendium.

MR. MAUTI:  It did talk about, you know, median of customer group of companies in multiple industries having similar size and business complexity, so again, they wanted to get a broad spectrum to be able to compare us to, which I think is fair, and it's us trying to understand what the results of that benchmarking would indicate is our responsibility.

MR. MILLAR:  Sure, but that's what Hackett does, right?  They do benchmarking studies, and they have expertise in picking a peer group?  That's why you hired them.

MR. MAUTI:  Yeah.

MR. MILLAR:  If I look again on page 13 of the compendium, again at the top it says:

"OPG ECS has opportunities to peer..."

I guess they're using peer as a verb there, to peer, especially, and then it lists those areas.  So at least Hackett seems to think there is an opportunity for improvement in these results, but at least on a -- we don't have quartile basis, of course, because we don't know the comparators going forward, but on an absolute basis your costs are, if anything, increasing in these categories over the test period?

MR. MAUTI:  Again, given the precision of what we're looking at here, I think -- I would say they're relatively stable over the test period.  And the fact that Hackett picked a peer group, you know, this was a request to look at our corporate services costs in relation to sort of generic corporate costs in relation to generic companies, so understanding why they picked the peer group the way they did, they had a mixture of different types of companies in different industries, so I would suggest that our going-forward position is that they're relatively stable from where they were in 2014, and again, understanding the mix of, you know, the IT group, which is, for example, better in first quartile in relation to some of the other groups, HR being effectively at medium, finance slightly above medium, and ECS, as indicated, would be higher than the last of the 19 companies on a quartile basis.  That's the results -- how they come up with, and again, it's our accountability to understand what's driving those things and to determine whether there is a rationale for that or if there needs to be action taken.

MR. MILLAR:  Okay.  Let's move on.  Thank you for that.

Some questions about income-tax credits.  I assume these are for you, Mr. Kogan?

MR. KOGAN:  Yes, and I'll try not to speak Klingon.

MR. MILLAR:  Well, that was going to be my next question, so let's -- let's try and keep this -- help me through this.  I'm hoping we can -- together we can understand all of this.

I have some questions about certain scientific research and experimental development tax credits that OPG earns, I guess is the word.  First, can you just very briefly tell me what those credits are and what it is you do to earn them?

MR. KOGAN:  I think at its basic, it’s that the scientific research and experimental development program is a tax incentive program designed to encourage companies to do just that, conduct research and development type activities.  And being a nuclear company, it’s certainly not surprising that we do quite a bit of that in various areas, whether it's nuclear engineering or things like that.

MR. MILLAR:  Do you have grad students on-site, or people from the universe there?  Or is this work that you conduct and you share the data with somebody, researchers or something like that?

MR. KOGAN:  No, that's not how it works.  It's work we conduct in the normal course of our business, largely through projects.  For example, there could be some work-related to fuel channel and degradation mechanisms, things like that.

We don’t have to share that work with anybody in order to qualify for this program.  We just have to make sure the work meets the stringent criteria outlined in the tax requirements, and then we're allowed to claim that tax incentive.

MR. MILLAR:  So you get these tax credits, and they can be used to reduce your corporate taxes; is that right?

MR. KOGAN:  That's right.

MR. MILLAR:  And generally speaking, the credits can be carried back for up to three years, or carried forward up to twenty years?

MR. KOGAN:  Those are the tax rules, yes.

MR. MILLAR:  So OPG's overall business includes both regulated and non-regulated.  But for income tax purposes, you're a single company, right?  You file a single tax return?

MR. KOGAN:  OPG Inc. is a legal entity that files a single tax return,.

MR. MILLAR:  And the numbers in that tax return wouldn't match your regulatory taxes, the taxes you seek to recover from ratepayers, because your overall tax return includes both your regulated and non-regulated businesses?

MR. KOGAN:  That would be one of the reasons, yes.

MR. MILLAR:  But your nuclear business is regulated?

MR. KOGAN:  Our nuclear and regular hydroelectric businesses are regulated.

MR. MILLAR:  Could we go to page 31 of the compendium? I want to get a handle on what these credits have looked like.

I think if we look at line 1, this is on the nuclear side, we can see the credits you earn over a particular year.  In 2014 it was 33 million, 19.3 million in 2015, and then you've got your budget and plan numbers.  Is that right?

MR. KOGAN:  Those are the numbers that are shown there.  The 2013 and 2014 numbers are part of the tax return, and the 2015 number has actually been updated in the body of one of the interrogatories in that area.

Actually, in the body of L tab 610, schedule 1, step 189, the actual 2015 number per the tax return is shown in part D.  I think we responded to the table you're looking at based on the pre-filed evidence, because that's what was referenced in the question.

MR. MILLAR:  Okay.  Do you have that number in front of you?

MR. KOGAN:  31.9.

MR. MILLAR:  Instead of 19.3, it should be 31.9?

MR. KOGAN:  That's right.

MR. MILLAR:  Thank you.  You also earn these credits from the hydroelectric business.  But if we look down to line 12, it's in much, much smaller numbers, correct?

MR. KOGAN:  Yes, they are.  And both nuclear and Hydro would include some relatively small amounts from our corporate support function, probably the IT function.  But the vast majority is from nuclear operations and projects business.

MR. MILLAR:  And you’ll see at line 12, it's 100,000 dollars a year from 13 to 16, approximately.

MR. KOGAN:  Yes.

MR. MILLAR:  Generally speaking, what you do with these credits is you use them to reduce your regulatory tax, is that right, if they were available to do that?

MR. KOGAN:  Yes, they do -- they are used to reduce regulatory taxes.  They are in fact part of regulatory taxes, I would say.

MR. MILLAR:  That's what you've done in the past, right?  In previous years, you have used those tax credits to reduce your regulatory taxes.  In fact, you propose to do that going forward, too?

MR. KOGAN:  Yes, we present these credits as a reduction to regulatory taxes in the year that they are utilized by OPG.

MR. MILLAR:  Okay.  Now, an issue arose, I guess because between -- correct me if I've got my numbers wrong.  But in 2014 through 2016, your nuclear business actually lost money, is that right?

MR. KOGAN:  We really look at the performance of our regulated operations on a combined basis.  So when you say things like lost money, or over-earned or under-earned, all those are generally considered in the context of the combined regulatory business.

MR. MILLAR:  You had a nuclear tax loss of $287 million in 2014, subject to check?  I apologize; it's not in my compendium, but it's from JT3.13.

You can take it subject to check, if you like.  My point is if you were to look at the nuclear business on its own, it lost money in those years.

MR. KOGAN:  What was that reference again?

MR. MILLAR:  JT3.13.

MR. KOGAN:  And the specific year number?

MR. MILLAR:  It's 2014 and at line 22, it shows a 287-million-dollar regulatory tax loss.

MR. KOGAN:  So that is the number that obviously shows there as the amount -- the regulatory taxable income or lost amount for the nuclear facilities that, as we discussed in that response and elsewhere in Exhibit F4-2-1, we then used to attribute our combined regulatory taxes between technologies, such that the -- and our approach has been if there is a loss in one business that is calculated like you see here, it really is first applied to reduce the positive taxable income that may be attributed to our hydroelectric operations.

That's an approach that we have applied consistently through our filings.  It's also an approach that I think the Board accepted when they determined the amount of the loss that was to be carried forward in EB-2013-0321.  That loss was also determined on a combined basis.

MR. MILLAR:  You're getting slightly over my head, so maybe I'll make the question simpler.  Imagine OPG only ran the nuclear business, and it didn’t have the hydro or any of the unregulated stuff.  Would you have suffered a tax loss in 2014, 2015, and 2016?

MR. KOGAN:  My answer is I don't know.  There's many reasons why it's difficult do a speculation of what the nuclear business would have looked like if it was just on its own.  But the other concrete element to bring into this is that our ROE is set on a combined basis.  If you're looking at a nuclear stand-alone business, nuclear could have a higher or a much higher ROE, I don't know, which would have resulted in a different rate, a different ROE, and earnings, revenue and taxes.

So that's one of the reasons why I think it's appropriate to continue to look at these numbers on a combined technology basis.

MR. MILLAR:  Okay.  So there are reasons that you can't simply take the $287 million and count that as a nuclear tax loss?

MR. KOGAN:  Correct, and again that's what was done in the EB-2013 decision when that loss was -- when the loss in that decision was carried forward.  It was the combined net loss that was carried forward.

MR. MILLAR:  Okay.  As you've pointed out, overall the company had positive net income for those years, correct?  If you take the nuclear and the hydro, your tax return had a positive number.  You paid taxes?

MR. KOGAN:  Yes, we did pay taxes, and there was a  taxable income for the company overall.

MR. MILLAR:  In fact, you used the ITCs that you earned from this scientific research and experimental development credit, you used those to reduce your taxes payable?

MR. KOGAN:  Yes, we did use the shred ITCs to reduce our taxes payable, and it's on that basis that they are presented in the tables, to the extent they were utilized to do so, the regulated portion of the amounts realized on the corporate tax return.

MR. MILLAR:  Right.  So all of the credits you earned over those years have already been used, and they're not available to be used in the test period?

MR. KOGAN:  That's my understanding, yes.

MR. MILLAR:  Okay.  Now, I guess we're not quite seeing eye to eye on this point, but our suggestion to you is that if you only had a regulated nuclear business in all likelihood you would have had a tax loss for that year, but do I take it you can't agree with me on that?

MR. KOGAN:  I think that I -- correct, I can't agree with you like that, but maybe I can offer a few other things that could be of mutual help.

MR. MILLAR:  Please.

MR. KOGAN:  One thing to consider when we're looking at these numbers, whether you're looking on a standalone or a combined basis to nuclear and hydro, first of all, is that there were some losses that were actually forecast in our rates that already have been credited to customers.  I believe there was a loss in 2015 that was split across nuclear and regulated hydroelectric corporations right in the payment amounts order.  So that's already baked into rates.

So for example, if you're looking at a year like 2015 -- I know you're looking at 2014, but just, you know, more broadly -- you would need to take that into account, so if there were to be a nuclear losses the way you calculated to which, like I said, I don't agree, or a combined number, you would need to adjust that first of all by the amount that's already reflected in rates.

MR. MILLAR:  And how much is that?  It's not 31.9 million.

MR. KOGAN:  The loss, I think, was somewhere in the neighbourhood of maybe $150 million, subject to check.  That's not taxes payable, that's the tax loss.

The other element to consider is that we already had forecast about 9 or 10 million dollars of investment tax credits that were reflected in the rates, so if you're saying, okay, you, you know, earned $30 million of credits, well, if anything you have to reduce that amount by the amounts already been baked into the forecast.  I think that's only fair.

MR. MILLAR:  Was there something more?

MR. KOGAN:  Just give me one second.

MR. MILLAR:  Yup.

MR. KOGAN:  I think you'd also need to consider when looking at what our tax income -- taxable income or taxable position is is whether it arose as a result of or in connection of disallowed expenses.

So for example, you know, the Board disallowed some OM&A expenses last proceeding.  But to the extent that we incur those expenses and that causes us to have a tax loss, I would suggest that that also should be taken into account in assessing the amount of the taxable income or tax loss in the period.

MR. MILLAR:  Okay.  Anything further for now?

MR. KOGAN:  For now, no.

MR. MILLAR:  Okay.  If you think of something you can let me know.

MR. KOGAN:  I --


MR. MILLAR:  Let me take a step back and look at this from a higher level.  If I were to suggest to you that ITCs that were earned through the nuclear business should only be used to offset taxes related to the nuclear business, what would your response to that suggestion be?

MR. KOGAN:  I would suggest that you wouldn't have to look at it on a combined basis.  I don't think that would be appropriate because, as I've stated, the ROE's set on a combined basis for the company, and so to look at a nuclear taxable position or tax loss position, which is what you would need to do when you're applying the shred ITCs, would not be appropriate.  It's appropriate to say that the nuclear business generated, you know, X amount of ITCs.  That's something that's easily traced and determinable and ascertainable, because the work was done, but it's not possible to conclude what the nuclear tax position would have been, so --


MR. MILLAR:  Is it just because the ROEs would be different between hydro and nuclear?  Is that the stumbling block?

MR. KOGAN:  That's the main reason that I can think of right now.  But like I said, the other point not to lose track of is, what is the actual amount of -- even if you overcame that and you hypothetically looked at only the nuclear standalone position in order to determine the amount that is actually being utilized in that year on a standalone basis, which is I think what you're trying to do, you would need to consider what is the appropriate taxable income or tax loss number, and what I submit is the numbers that are in JT3 -- 313 or whatever the -- whatever the undertaking we were referencing earlier, that those are not the appropriate numbers, because you need to make a few adjustments to those.

One, as I mentioned, is you have to take into account the loss that already went to the ratepayers through the payment amounts that are in effect.  And two, there are items that are driving those hypothetical losses, I'll call them, for nuclear that the benefit of which is already being passed to ratepayers through deferral and variance accounts.

So for example, if let's say there is a lot more CCA that is incurred in a given year related to Darlington refurbishment or some similar other deduction, and that is being credited to customers through this -- through the capacity refurbishment variance account, which they are, and it's also showing up as driving the loss in that year on that table, well, again I would submit you would need to adjust that out, and between those two adjustments for losses embedded in the existing rates and for losses -- or in benefit of tax deductions that are embedded in variance and deferral accounts, there's quite significant adjustments that would need to be made in order to get what I will call a more appropriate measurement point.

MR. MILLAR:  So what I'm hearing is there would be a host of practical challenges if you wanted to break it out that way?  I mean, in other words, is the impediment that it would be really hard do this or is it that --


MR. KOGAN:  No.

MR. MILLAR:  -- theoretically it's not the way you --


MR. KOGAN:  No, it's not -- no, it's not the hard to do.  I -- well, what's hard to do is to ask what would nuclear business look like hypothetically on its own.  I mean, that's obviously -- you know, you'd have to imagine that.

But given the numbers that we have, no, it's more the theoretically I have a disagreement that that's the appropriate way to look at it, the first being that it should be looked at on a combined basis, but even if you overcome that, you need to look at the right taxable income or tax loss amount in order to measure whether the ITCs that were earned in that year were actually utilized on that year on a standalone basis, and the losses you're looking at in that undertaking would be significantly different once you've made those adjustments.

MR. MILLAR:  Let me ask the question a slightly different way and see if the answer's the same.  Would it be appropriate to use income-tax credits that were earned on the regulatory side of the business to reduce taxes that were the responsibility of the unregulated side of business?  And I can already tell there's going to be a host of practical challenges as to how you would split that out, but in theory should ITCs earned by regulated be used to offset non-regulated taxes?  Not offset, reduce.

MR. KOGAN:  Well, we look at -- as a tax-paying entity we look at the taxes we pay on a combined basis, so that -- you know, we file one tax return, so we don't think of it in that context like that.  But really, there is a little bit of a history to this.  And I apologize, this is a Friday afternoon topic, but it's -- I guess that's the way the schedule worked out -- is that prior to us converting to U.S. GAAP, the shred investment tax credits were presented as an OM&A line item.  And when they were presented as an OM&A line item they were allocated or attributed to between the regulated and the unregulated business using cost allocation methodology, using all the principles that we set out properly, and by virtue of that whatever the amount that was actually utilized in the year was recognized as a credit.

So we followed effectively whatever was in our books for OM&A, which included these credits, and so that is sort of the origin of our approach why the amounts are being presented in the tables in the year that they are utilized and from a corporate-wide perspective.

So it's -- you know, that then that we've just followed that approach along once we converted to U.S. GAAP and the presentation shifted for those numbers to simply be in the tax line.

But as I said earlier, following the tax rules can they be carried forward?  Yes, they can be.  Those are the tax rules, of course.

MR. MILLAR:  Thank you for that, that is helpful.  I have questions about going forward.  And I think I know what you're going to say, but this is my last area so maybe we can spend a moment here.

For the test period, your hydro and nuclear businesses are operating on different regulatory streams.  You’ve got IRM for hydro and a five-year custom IR, which is kind of based on cost of service for nuclear, is that right?

MR. FRALICK:  Yes.

MR. MILLAR:  On the hydro side, your base rates were set -- I think it's 2014-2015 blended.  That base revenue requirement would have included whatever income tax credits were available at that time?

MR. KOGAN:  Can you restate the question?

MR. MILLAR:  When you set the base for your hydro payments, the cost of service that was the blend of 2014-2015 in the 0321 proceeding, when you set that revenue requirement, that would have included any of those ITCs we were discussing?

MR. KOGAN:   A forecast of ITCs would have been included, yes.

MR. MILLAR:  Sorry, I didn't ask that very well.  Let's imagine a situation similar to what we had in 2014-16.  Let's pretend it’s the year 2021, and however you calculate this, you have a big loss in your nuclear business, but everything else is going okay.  You have forecast $18.4 million in these ITCs for 2021.

Would it be appropriate to use that amount to reduce regulatory taxes for OPG overall, if they were earned by the nuclear business?  And if you don't have anything to a add to your previous answer, that’s fine.

MR. KOGAN:  I want to understand first, if I may.  We're talking about -- so this is a forward-looking situation, or are you saying 21 has already happened?

MR. MILLAR:  21 has already happened.  We're out in --in IRM, the rates are already set, so you couldn't Tuesday to offset hydro amounts; those are locked in through the formula.

MR. KOGAN:  So 21 has already happened, and the combined regular business incurred a loss, or just nuclear?

MR. MILLAR:  Nuclear.

MR. KOGAN:  Overall?  Taxable income overall?

MR. MILLAR:  Taxable income.

MR. KOGAN:  That would be the same situation that we found ourselves in, for example, in 2015 and the question is to the extent that we have more ITC than 18.4?  Is that the scenario, or we had exactly 18.4?

MR. MILLAR:  The 18.4, for the sake of --


MR. KOGAN:  If we had 18.4, that 18.4, just like the 9.4 or the 10 million I mentioned from the last proceeding would have already been credited to ratepayers.  It’s already embedded in rates.

So I would present in a number as a negative tax number in 2021 when I do my historical reporting, such that it is not carried forward, because carrying it forward would imply that it would be used to offset rates.

You can’t do that twice, if it's already been used up.

MR. MILLAR:  I understand.

MR. KOGAN:  Just, you know, I want to put a number out there, because I think it's important for magnitude of our discussion.

So when we're looking at JT3.13 and, for example, there was 286-million-dollar loss in nuclear the way it's calculated here, well, my earlier comments that you need to get the right loss number as a reference amount in that situation.

I would adjust that loss by over $200 million.  Just to give you an idea that these adjustments regarding losses that are embedded in existing rates and tax benefits already credited to ratepayers through the variance accounts, they can be quite significant.  So it’s very important, when we are looking at historical tax number information to put any kind of carry forward analysis, to have that in mind.  Otherwise, you end up with very significant double counting, and I think that would be a real problem.

MR. MILLAR:  How did you determine the split between nuclear facilities and hydro facilities that we see in JT3.13?

MR. KOGAN:  As I work down the table, we calculate earnings before tax for each of the units, starting with our accounting records, making some regulatory adjustments and then we work through the temporary differences, the additions and deductions shown here.  Some of them are direct, things like depreciation.  Things like pension, there's a bit more of an allocation needed.

But we work our way down in the same way, a similar way that we would when setting revenue requirement for various line items, and that's how we would compute the line 22, which I guess you could mechanically refer to as sort of the nuclear stand-alone tax loss or --


MR. MILLAR:  That's something you prepare for this application, obviously.  It's not part of your tax return as you've discussed.



MR. KOGAN:  That's right, this is something we prepare for regulatory reporting and filing purposes.

MR. MILLAR:  Okay thank you.  Thank you, panel.  Those are my questions.

MS. LONG:  The panel has no questions.  Mr. Smith, do you have any re-examination?
Re-Examination by Mr. Smith:


MR. SMITH:  Yes, Madam Chair, just one, maybe two questions.

I'm not sure whether this is for you, Mr. Mauti, or for you, Mr. Kogan.  I believe I'll ask it to you, Mr. Mauti, and you can hand it over.

My recollection from the cross-examination this morning is that a number of times in response to questions from Mr. Shepherd, you appeared, at least to me, to stress the difference when calculating nuclear liabilities between the approach taken in relation to the Bruce facilities and the prescribed facilities.

Did I understand that correctly?

MR. MAUTI:  Yes, whether it was Mr. Shepherd, and I believe even with Mr. Buonaguro yesterday.

MR. SMITH:  And why did you do that?

MR. MAUTI:  I just wanted to make sure that -- I know this is a complicated area, but when it comes to Bruce versus prescribed, the Board in its 2007 decision made what I'll call a bright line distinction between the two, that the Bruce facilities were to be treated as an unregulated business of OPG’s, and it would be reporting its net costs or revenues on a GAAP basis going forward.

So the difference in the recovery methodologies for liabilities clearly defines that as the requirement for Bruce, whereas it took more of a regulatory sort of basis in terms of coming out with an appropriate rate base return for the prescribed facilities.

And so the reason I bring that up is I know in the course of doing our undertaking from, I believe, Mr. Buonaguro yesterday, where he had asked us to look at the difference between our current recovery methodology and a potential to look at the costs on a cash basis in terms of expenditures and contributions, we had to split that and keep it distinct between the Bruce and the prescribed facilities.  And while we are still trying to sort of pull the numbers together, I just wanted to point out that in looking at that over the test period, the amount on an accrual basis and GAAP basis for the Bruce is significantly higher than it would be on a cash or contribution basis, in comparison between the Bruce facilities and prescribed.

You're going to end up with some fairly big numbers going in different directions for both Bruce and prescribed.  And given the Bruce basis is on a GAAP basis,  I wanted to point that out that, that distinction between the two is very important when looking at the results of this undertaking and just in general, when evaluating the methodologies.  While those methodologies are largely consistent on an accrual basis right now for both prescribed and Bruce for a significant portion of those recoveries, any differences going forward I think you have to keep in mind that Bruce basis as recovery on a GAAP foundation as being a very important distinction.  So I just wanted to flag that to make sure it was clearly understood there was a lot of things -- we were talking about liabilities today and yesterday, so it's swimmy, I understand.  But I just wanted to make sure that that distinction was clear.

MR. SMITH:  I had a question in a related area, which is around the discount rate used in relation to the self funded portion of the liability, and I wanted to understand where or how you arrive at that discount rate.

MR. MAUTI:  The discount rate that we use for GAAP purposes for our internally funded would be based on the requirements under GAAP to look at a liability when it's established, and to look at the discount rate that is used based on -- GAAP calls it a credit adjusted risk free rate, so it's he a rate that you would have to look at what similar kinds of risk-adjusted securities are out there that would match the cash flows related to those programs.  And for the internal programs they again last sometimes several decades.  It is difficult to necessarily try to find cash flows that exactly match those durations.

So the way we do it in accordance with GAAP accepted by our auditors is to use the longest government of Ontario publicly available traded bond that we use to be able to assess that discount rate to be able to set the ARO at its inception, and then every subsequent time we do an adjustment to that ARO that's the discount rate that's used.

MR. SMITH:  And how is that compared to the ONFA rate?

MR. MAUTI:  The ONFA rate as specified in the ONFA agreement itself, it calls for a real rate of -- or a rate that's equal to a real return of 3.25 percent plus a long-term Ontario inflationary -- inflation adjustment, and currently that stands at a 5.15 percent, so really, the amounts that we're using within ONFA are determined and hard-coded within the ONFA agreement in terms of how to calculate them.

MR. SMITH:  And how do the two compare to one another over time?

MR. MAUTI:  Currently the weighted average of the discount rates we use for accounting, which is a buildup of the, I believe, seven or eight ARO tranches that have been established over time has a weighted average of about 4.95 percent in relation to the current ONFA discount rate, which is 5.15 percent.

MR. SMITH:  And historically has that differential been the same?

MR. MAUTI:  No, actually the initial tranche for ARO that was set up back in effectively 1999 had a discount rate that's now higher than the ONFA rate that was at 5.75 percent, I believe, and that's a large tranche.  The initial tranche within our asset retirement obligation is valued at that 5.75, so those rates have varied over the first 16 years of OPG's existence, and depending on what happens going forward they would be susceptible to variation.  Again, these are very long-term programs.  I couldn't speculate where interest rates are going to go in five months, much less 50 years, so that would be subject to it being all up and down as well.

MR. SMITH:  Thank you very much.  Those are my questions.

MS. LONG:  Thank you, Mr. Smith.

Mr. Kogan, you had said that you were going to check on the break surplus base load generation for 2016.  Given that we're not going to have a break, I'm wondering if we can just deal with that by way of undertaking?

MR. SMITH:  It's -- we can, but it's 4.3 terawatt.

MS. LONG:  Okay.  Good.  All right then.  Thank you very much, panel.  You're excused.  Thank you for your evidence.  And we will be back Wednesday one o'clock with the rate smoothing panel.  Have a good weekend, everyone.
--- Whereupon proceedings adjourned at 3:06 p.m.
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